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✢
✣
➎❁➑❝➋✈➐

✤
➍
✥✧✦ ✤
➍✦➓
✤
➌r➓➔➎❴➋

★
➎❷➍

✩✛✪
➎
✫✬✪
➌r➍✦➓➔➒❽➎

✭
➌r➓
✫
➓
✮ ✤
➌r➓➔➎❁➋

✢✰✯❭➉
✱✳✲ ✪✴✩
➍
✤
➐❁➓
✪
➋✈➌

✫✬✪
➌
✲
➎❁➐

▼P❖✼◗✴④▲❵❼❘▲♣✈❙❛◗❏♦t❩✬❚✆◗❏❩✜❖✼❱✈♣✎❙❭❬✬❪❝❵✜❱❥②❝❘❨②✼❣❛❦➟❩✜❖✼◗✠❬✙❙❛❚✆❪✼❣❯◗❊❬✦❩✡❩✜❱❷❱▲❣➣❱❨❳❱❥❪✈❩✜❙❛❚✆❙❯✇❊❘✗❩✜❙❛❱▲♦✱②❝①✈❩➈❙❯❩➈❚❽❘✿❦✫②❴◗❊sr❱▲❚✆◗❾❩❢❵✜❙❭s❼➇❷❦✡❞✉❖❝◗❏♦➧❘❨❪❝❪✼❣❯❙❛◗■♣✱❩✜❱❬✜❖❝❘❨❪❁◗■❬■❧✶❬✙❱✴❞➆◗✫❙❯♦❴♣✈①✼❣❛④▲◗✬❱❥①✼❵❼❬✙◗■❣❯✐❥◗■❬✯❙❛♦➁④❥❙❯✐❷❙❛♦✼④✴❬✜❱▲❚✆◗✫♣✈◗r❩❼❘❨❙❛❣❛❬ ❻
✵ ◗r❩

F
②❁◗✡❘✚❚❽❘❨❪➜❳⑥❵❢❱▲❚❲❘❨♦◆➲❅❙❯❣❛②❴◗■❵✙❩✆❬✙❪❴❘▲sr◗

X
❙❛♦t❩✜❱

R
❻ ▼P❖✼◗④❥❵❢❘❥♣✈❙❯◗■♦t❩➺❚✕◗❏❩✜❖✼❱✈♣✯❘▲❚✆❱▲①✼♦t❩❢❬➺❩✜❱♥②❝①✼❙❯❣❭♣✯❘♥❬✜◗■ét①✼◗■♦❝sr◗✞❱❨❳✼◗❏❣❛◗❏❚✆◗■♦❥❩❼❬

(xn)n≥0 ∈ X
②t❦

xn+1 = xn − hndn,



�

❞✉❖✼◗■❵✜◗
hn ∈ R

+ ❙❛❬❽❘✠❬✙❚❽❘▲❣❯❣✉❪❁❱❥❬✜❙③❩❢❙❯✐❥◗✫❬✙❩✜◗■❪✎❘❨♦❝♣
dn

❙❛❬✕❩❢❖✼◗♣✈◗❊❬✜s❏◗❏♦t❩♥♣✈❙❛❵✜◗❊s↔❩✜❙❛❱▲♦✚♣✈◗❏⑦❝♦✼◗■♣✫②❷❦
(dn, y)X =< F ′(xn), y >X∗,X

❳⑥❱▲❵♥❘▲♦t❦
y ∈ X.

✁ ❬✙①❝❘▲❣❯❣❛❦▲❧❍❩❢❖✼◗✚❙❛♣✈◗■♦t❩✜❙❯⑦❴s❏❘❨❩✜❙❛❱▲♦➛②❴◗❏❩✦❞➆◗■◗❏♦
X

❘❨♦❝♣➟❙❯❩❢❬❽♣✈①❝❘▲❣
X∗①✼♦❴♣✈◗❏❵➣❩✜❖❝◗✆❬❢s❏❘▲❣❛❘▲❵❅❪✼❵❢❱✈♣✈①❝sr❩

(., .)X

❙❛❬➣①✼♦❴♣✈◗❏❵❼❬✦❩❢❱❷❱❷♣ ❻ → ❳➆❞➆◗✆♣✈❱❬✜❱❝❧
dn

❙❛❬❅♦✼❱❨❩❢❖✼❙❛♦✼④❽❚✆❱▲❵❢◗❾②✼①✈❩♥❩❢❖✼◗✯④▲❵❼❘▲♣✼❙❯◗■♦❥❩♥❱▲❳
F
❧
F ′(xn)

❻ → ❳
F ′(xn)

❙❭❬❫♦❝❱❨❩❜◗❊ét①❝❘❨❣✞❩✜❱✓✇■◗❏❵❢❱❝❧✌❩✜❖✼◗■♦➀❳⑥❱▲❵
hn

❬✜❚❽❘❨❣❛❣➆◗■♦✼❱▲①✼④❥❖➺❧
F (xn+1) < F (xn)

❻ ▼P❖✼◗❫❘▲❣❯④❥❱▲❵❢❙③❩❢❖✼❚ô❙❭❬✉❙❯♦❝❙③❩❢❙❛❘▲❣❯❙❛✇❏◗❊♣✚❞✉❙③❩❢❖➧❘❨♦❷❦◗■❣❯◗■❚✕◗■♦t❩
x0 ∈ X

❧r❘▲♦❝♣➃❙③❳
F
❙❛❬✌❬✦❩❢❵✜❱❥♦✼④▲❣❛❦❅sr❱❥♦❷✐▲◗r↕➥❧

xn

sr❱▲♦❷✐❥◗❏❵❢④▲◗■❬❩❢❱✗❞⑤❘▲❵❢♣✭❩✜❖✼◗❾❱❥❪✈❩✜❙❛❚❽❘❨❣➺❬✜❱▲❣❛①✈❩✜❙❛❱▲♦
x∗

❱▲❳õ❩❢❖✼◗❾❪✼❵❢❱▲②✼❣❛◗❏❚
F (x∗) = min

x∈X
F (x).

→ ♦✭❬✙❩✜❵❢①❝s↔❩❢①✼❵❼❘❨❣✈❱▲❪✼❩✜❙❛❚✕❙❛✇■❘❨❩✜❙❛❱▲♦➺❧▲❩✜❖✼◗➈❬✙◗❊❘❨❵❼s❼❖✕❬✜◗r❩
X
❙❭❬⑧♦✼❱❾❚✆❱▲❵❢◗♥❘➲❅❙❯❣❛②❴◗■❵✙❩⑤❬✙❪❝❘❥sr◗✉②✼①✼❩➆❘✯❬✜①✼②❝❬✜◗r❩❃❱❨❳❈❩❢❖✼◗♥❱▲❪❁◗❏♦❽❬✜◗r❩❼❬❃❱❨❳
R

N
➄✺❞✉❖✼◗❏❵❢◗①❝❬✜①❝❘▲❣❯❣❛❦▲❧

N = 2
❱▲❵

3
➅⑧❘▲♦❝♣✆❖❝❘▲❬✞♦✼◗❏❙❯❩✜❖❝◗❏❵➆❬✙❩✜❵❼❘❨❙❛④▲❖t❩✜❳⑥❱▲❵❢❞⑤❘▲❵❢♣✕♣✈❙❯❳⑨❤❳⑥◗■❵✜◗■♦❥❩❢❙❛❘▲②✼❣❛◗❜♦✼❱❥❵❾➲♥❙❛❣❯②❁◗❏❵✜❩✯❬✦❩❢❵✜①❝sr❩✜①✼❵❢◗ ❻➥➞ ◗❏✐▲◗■❵✙❩❢❖✼◗❏❣❛◗■❬❢❬■❧❴❩❢❖✼◗✆④▲❵❼❘✗❤♣✈❙❛◗❏♦t❩✕❚✕◗❏❩✜❖✼❱✈♣➟s❏❘❨♦◆❬✜①❝s■sr◗■❬❢❬✙❳⑥①✼❣❯❣❛❦➜②❴◗✚❘❨❪❝❪✼❣❯❙❛◗■♣ ❻ ▼õ❱✱❩✜❖❝❙❛❬✕◗❏♦❴♣➥❧❞⑤◗❅♦✼◗■◗■♣✭❩✜❱❜♣✼◗r⑦❝♦✼◗➣✐✗❘❨❵❢❙❛❘❨❩✜❙❛❱▲♦❝❬✞❱❨❳➺❱❥❪❴◗■♦✡❬✜◗r❩❢❬■❧❷❘❨♦❝♣✬◗❏♦❝♣✈❱✗❞➠❩❢❖✼◗❬✜◗r❩✬❱▲❳❾✐✿❘▲❵✜❙❭❘✗❩❢❙❯❱❥♦❝❬❽❞✉❙❯❩✜❖➡❘▲♦☛➲♥❙❛❣❯②❁◗❏❵✜❩✴➄✺❱▲❵✡❘❨❩✬❣❛◗■❘▲❬✙❩ ➙ ❘❨♦❴❘▲s❼❖❴➅❬✙❩✜❵❢①❝s↔❩❢①✼❵❢◗ ❻

✢✰✯ ✢
✂ ✤
➍✦➓
✤
➌r➓➔➎❴➋

★
➎
✄ ✤
➋➧➎

✭ ✪
➋
★ ✪
➌

✵ ◗r❩
J(Ω̃)

②❁◗✯❘✕❵✜◗❊❘❨❣❈✐✗❘❨❣❛①✼◗■♣✬❳⑥①✼♦❝sr❩✜❙❛❱▲♦✚♣✈◗r⑦❴♦✼◗■♣✡❳⑥❱▲❵♥❘▲♦❷❦❽❱▲❪❁◗❏♦❬✜◗r❩
Ω̃
❱❨❳

R
N ❻ ✵ ◗❏❩ Ω

②❁◗❜❘✆❵❢◗❏④❥①✼❣❭❘❨❵✉❱▲❪❁◗❏♦➧❬✜◗r❩➈❱❨❳
R

N ❻✆☎ ❙❯✐❥◗❏♦❘✕❚❽❘❨❪
θ
❳⑥❵✜❱❥❚

Ω
❙❛♦❥❩❢❱

R
N
❧❝❞➆◗❾❬✜◗r❩

Ω(θ) = (Id +θ)(Ω) ≡ {x + θ(x)
❬ ❻ ❩ ❻

x ∈ Ω}.

ö ❱▲❵❃❬✜❚✆❘▲❣❯❣✈✐❥◗■sr❩✜❱▲❵✶⑦❴◗❏❣❭♣
θ
❧✗❩✜❖✼◗✉❱❥❪❴◗■♦❽❬✙◗❏❩

Ω(θ)
❘❨❵❢◗⑤❱❥♦✼◗r❤♠❩✜❱▲❤♠❱❥♦✼◗❪❁◗❏❵✜❩✜①✼❵❢②❝❘❨❩✜❙❛❱▲♦❝❬➈❱❨❳❃❩❢❖✼◗✕❙❯♦✼❙❯❩✜❙❭❘❨❣⑧❬✜◗r❩

Ω
❻ → ❳✞❩✜❖✼◗✕❚❽❘❨❪

FΩ : θ 7→
J(Ω(θ))

❙❛❬❅♣✈❙③ù❈◗❏❵❢◗❏♦t❩❢❙❛❘▲②✼❣❯◗❥❧✈❞➆◗❾♣✈◗❏⑦❝♦✼◗➃❩❢❖✼◗✯❬✙❖❴❘❨❪❁◗➃♣✼◗❏❵❢❙❯✐✗❘✗❩❢❙❯✐❥◗
< J ′(Ω), θ >=< F ′

Ω, θ > .

➙ ❦➀➲❅❘❥♣✼❘❨❚❽❘❨❵❼♣◆❬✙❩✜❵❢①❝s↔❩❢①✼❵❢◗✭❩✜❖❝◗❏❱▲❵❢◗❏❚✚❧❍❙③❩❽❙❭❬❫➇❷♦✼❱✗❞✉♦◆❩✜❖❝❘❨❩✕❩❢❖✼◗❬✜❖❝❘❨❪❁◗✆♣✈◗❏❵❢❙❯✐✗❘❨❩✜❙❛✐▲◗❫❙❭❬➃s❏❘▲❵✜❵❢❙❯◗❊♣✱❱▲♦❝❣❯❦✱❱❥♦➧❩✜❖❝◗❜②❁❱▲①✼♦❴♣✼❘❨❵❢❦✚❱❨❳✞❩❢❖✼◗❬✜❖❝❘❨❪❁◗▲❧✈❙ ❻ ◗ ❻
< J ′(Ω), θ >=

∫

∂Ω

j(Ω) θ · n ds.
➄✦í❊➅

✢✰✯✞✝
✱✳✲ ✪✠✟

➎❴➑❴➋✈➐
✤
➍
✥✧✦ ✤

➍✦➓
✤
➌r➓➔➎❴➋

✤☛✡ ✩
➎❷➍✦➓ ➌

✲ ✫

→ ♦✯❱❥❵❢♣✼◗❏❵➺❩❢❱➈❘▲❪✼❪✼❣❛❦➈❩❢❖✼◗⑤④▲❵❼❘▲♣✈❙❛◗❏♦t❩✌❚✆◗r❩❢❖✼❱✈♣➃❩✜❱➃❬✜❖❝❘❨❪❁◗✞❱❥❪✈❩✜❙❛❚✆❙❯✇❊❘✗❤❩❢❙❯❱❥♦➺❧❴❙❯❩➈❵❢◗❏❚❽❘▲❙❯♦❝❬♥❩✜❱✫❘▲❬❢❬✙❱✈sr❙❭❘✗❩❢◗➃❩✜❱✫❘❽④▲❙❛✐▲◗■♦➧❬✙❖❝❘▲❪❴◗✕♣✈◗❏❵❢❙❛✐✿❘❨❩✜❙❛✐▲◗
J ′(Ω)

❘➧♣✈❙❛❵❢◗■s↔❩❢❙❯❱❥♦➀❱❨❳♥❬✜❣❯❱❥❪❴◗
d
❻ ▼✌❱✱❩❢❖✼❙❭❬❫◗■♦❝♣➥❧❍❙③❩✆❬✙①✈q✭s❏◗■❬❾❩❢❱◗■♦❝♣✈❱✗❞❡❩✜❖❝◗✫❬✜❪❝❘▲s❏◗✬❱▲❳❅✐▲◗❊s↔❩✜❱❥❵✯⑦❝◗■❣❛♣❝❬❫❳⑥❵❢❱▲❚

Ω
❙❛♦❥❩❢❱

R
N
❞✉❙❯❩✜❖❘▲♦✚➲❅❙❯❣❛②❁◗❏❵✜❩❅❬✦❩❢❵✜①❝sr❩✜①✼❵❢◗▲❧✼❳⑥❱▲❵✉❙❛♦❝❬✦❩❼❘❨♦❝s❏◗

H1(Ω)N ❻ → ♦✫❩✜❖✼❙❭❬❅s■❘▲❬✜◗▲❧❩❢❖✼◗❾♣✈◗■❬❢sr◗■♦❥❩✉♣✈❙❛❵✜◗❊s↔❩❢❙❯❱❥♦✬❙❭❬✞❩❢❖✼◗➃①✼♦✼❙❭ét①✼◗➃◗❏❣❛◗❏❚✆◗❏♦t❩
d ∈ H1(Ω)N❬✜①❝s❼❖✡❩✜❖❝❘❨❩✉❳⑥❱▲❵✉◗❏✐❥◗❏❵❢❦

θ ∈ H1(Ω)N
❧

∫

Ω

(∇d · ∇θ + d · θ) dx =< J ′(Ω), θ > .
➄✸➯❥➅

☞ ❱❥❚✕❪❝①✈❩✜❙❛♦✼④
d
❘❥❬✆❩✜❖✼◗➧❬✜❱▲❣❛①✈❩❢❙❯❱❥♦➛❱▲❳➧➄✸➯▲➅✆s■❘❨♦✎❘❨❣❭❬✜❱✠②❁◗✱❙❛♦❥❩❢◗❏❵✜❤❪✼❵❢◗r❩❢◗■♣✫❘▲❬✉❘✕❵❢◗❏④▲①❝❣❛❘▲❵✜❙❛✇■❘❨❩✜❙❛❱▲♦✭❱▲❳õ❩❢❖✼◗❾④▲❵❼❘▲♣✈❙❛◗❏♦t❩ ❻

✌✎✍✑✏✓✒✕✔✗✖✙✘ ▼P❖✼◗✭s❼❖❝❱▲❙❭sr◗✕❱❨❳
H1(Ω)N

❘▲❬❾❬✜❪❝❘❥sr◗✆❱❨❳⑤✐✿❘▲❵✜❙❭❘✗❩❢❙❯❱❥♦❝❬❙❭❬⑧❚✆❱▲❵❢◗✉♣✈❙❛sr❩❢❘❨❩✜◗■♣✕②❷❦❾❩❢◗■s❼❖✼♦✼❙❭s❏❘▲❣❝sr❱❥♦❝❬✜❙❛♣✈◗■❵❢❘❨❩✜❙❛❱▲♦❝❬P➄✺❙③❩❃❙❭❬⑧◗■❘❥❬✙❦✯❩✜❱❬✜❱▲❣❛✐▲◗✬➄♠➯▲➅♥❞✉❙③❩❢❖ ⑩❷❶✼❸t❸❥⑩✼❸✿❹❁❺t❺ ➅➆❵❼❘✗❩✜❖❝◗❏❵♥❩❢❖❝❘❨♦➧❩✜❖✼◗■❱▲❵❢◗r❩✜❙❭s❏❘▲❣✌❱❥♦✼◗■❬ ❻ú➧❘▲♦❷❦❫s❼❖✼❱▲❙❭sr◗❊❬⑧sr❱❥①✼❣❛♣❜②❁◗✉❚✆❘❥♣✈◗♥❘❨♦❴♣❜❙❯❩❃❙❭❬✶♦✼❱❨❩❃❱❥②t✐❷❙❛❱▲①❝❬❍❩❢❱➣⑦❝♦❝♣❩❢❖✼◗✬❱❥♦✼◗✬❞✉❖✼❙❭s❼❖◆❪✼❵❢❱✗✐❷❙❛♣✼◗■❬❾❩❢❖✼◗✬②❁◗r❩✜❩✜◗■❵✕❵❼❘✗❩❢◗✭❱❨❳❅s❏❱▲♦❷✐▲◗■❵✜④❥◗❏♦❝s❏◗ ❻ú✱❱❥❵✜◗■❱✗✐▲◗■❵■❧❃❙❯❩✱❙❛❬✫❪❁❱❥❬❢❬✙❙❛②✼❣❛◗✓❩❢❱➟①❴❬✙◗➜❘➁❚✆❱❥❵✜◗✠④▲◗■♦✼◗❏❵❼❘❨❣➈❳⑥❵❢❘▲❚✆◗r❤❞⑤❱▲❵❢➇✫❘▲♦❝♣✱❩❢❱✡♣✈◗❏⑦❝♦✼◗❜❩✜❖✼◗✆♣✈❙❛❵✜◗❊s↔❩❢❙❯❱❥♦
d
❘▲❬❅❩✜❖✼◗✆❚✆❙❯♦❝❙❯❚✆❙❛✇❏◗❏❵✆➄⑥❙❛♦❬✜❱▲❚✆◗ ➙ ❘❨♦❴❘▲s❼❖❾❬✙❪❴❘▲sr◗✿➅➥❱▲❳✈❘♥❳⑥①✼♦❝sr❩✜❙❛❱▲♦❝❘▲❣▲❱❨❳✈❩❢❖✼◗❃❳⑥❱❥❵✜❚ 1

2I(d)− <
J ′(Ω), θ >

❧❷❞✉❖✼◗❏❵❢◗
I
❙❭❬P❘❫❪❁❱❥❬✜❙❯❩✜❙❛✐▲◗➈❳⑥①✼♦❝s↔❩❢❙❯❱❥♦❝❘❨❣ ❻ ▼P❖✼◗➣❪✼❵✜◗❊❬✙◗■♦t❩s■❘▲❬✜◗➣s❏❱▲❵❢❵✜◗❊❬✙❪❁❱▲♦❝♣❝❬✞❩❢❱✆❩✜❖✼◗❾s❼❖✼❱❥❙❛s❏◗

I(d) = ‖d‖2
H1(Ω)

❻
✌✎✍✑✏✓✒✕✔✗✖✓✚ ➲➈❘▲♣✼❘▲❚✆❘▲❵❢♣✬❬✦❩❢❵✜①❝sr❩✜①✼❵❢◗♥❩❢❖✼◗❏❱❥❵✜◗■❚❡❩✜◗■❣❯❣❭❬⑤①❝❬➆❩✜❖❝❘❨❩➆❩❢❖✼◗♣✈❙❛❵❢◗■s↔❩❢❙❯❱❥♦❝❘❨❣❍♣✈◗❏❵❢❙❛✐✿❘❨❩✜❙❛✐▲◗✯❱▲❳

J
♣✈◗❏❪❁◗❏♦❝♣❝❬❅❱❥♦✼❣❯❦✫❱▲♦➧❩✜❖✼◗❜✐✿❘▲❣❯①❝◗❫❱❨❳❩❢❖✼◗✓♦✼❱❥❵✜❚❽❘▲❣❅sr❱❥❚✕❪❁❱▲♦❝◗❏♦t❩

θ · n
❱❥♦

∂Ω
➄✺❬✜◗❏◗✓❳⑥❱▲❵❢❚❫①✼❣❭❘✎➄✦í✿➅✙➅ ❻▼P❖❷①❝❬■❧r❱▲♦❝◗❃s❏❘❨♦➃❵❢◗❏❪✼❣❭❘▲s❏◗❍❩✜❖✼◗✞❬✜❪❝❘❥sr◗

H1(Ω)N
❙❛♦❽➄✸➯❥➅❈②❷❦

H1(∂Ω)N❞✉❙❯❩✜❖✆❩❢❖✼◗➈s❏❱▲❵❢❵✜◗❊❬✙❪❁❱▲♦❝♣✼❙❯♦✼④❾s❼❖❝❘▲♦✼④▲◗✉❱▲❳➺❬✜s■❘❨❣❭❘❨❵⑧❪✼❵❢❱✈♣✈①❝s↔❩⑤❘❨♦❝♣✕❩❢❖✼◗♦✼◗■❞➤♣✈◗❊❬✜s❏◗❏♦t❩❅♣✈❙❛❵✜◗❊s↔❩❢❙❯❱❥♦✡❙❭❬⑤❩✜❖✼◗✯❬✜❱▲❣❛①✈❩❢❙❯❱❥♦✡❱▲❳
∫

∂Ω

d′·θ′+d·θds =< J ′(Ω), θ >,
❳⑥❱▲❵✉◗■✐▲◗■❵✜❦

θ ∈ H1(∂Ω)N ,

❞✉❖✼◗■❵✜◗
′
♣✈◗❏♦❝❱❨❩✜◗❊❬➈❩✜❖✼◗✆❬✙①❝❵✙❳✺❘❥sr◗❫④❥❵❢❘❥♣✈❙❛◗❏♦t❩ ❻❈➞ ◗■✐▲◗❏❵✜❩✜❖❝◗❏❣❛◗■❬❢❬❏❧❁❙③❩❾❙❭❬❚✆❱▲❵❢◗♥sr❱❥♦❷✐▲◗❏♦❝❙❯◗■♦❥❩✞❩✜❱✯①❝❬✜◗❫➄♠➯▲➅⑧②❁◗■s■❘❨①❝❬✜◗♥❙❯❩➆❙❭❬✞❬✜❙❯❚✆❪✼❣❛◗❏❵➆❩✜❱❜❬✙❱❥❣❯✐❥◗▲❧❘▲♦❝♣✯❙❯❩❍❦❷❙❛◗❏❣❭♣✼❬✶❘♥♦❝❘❨❩✜①✼❵❼❘❨❣t◗r↕❷❩❢◗❏♦❝❬✜❙❯❱❥♦❫❱▲❳✈❩✜❖✼◗P❚✆◗■❬✜❖❜♣✈◗❏❳⑥❱▲❵❢❚❽❘✗❩✜❙❛❱▲♦❱❥♦✬❩❢❖✼◗❾❞✉❖✼❱▲❣❛◗❾♣✈❱▲❚❽❘▲❙❯♦

Ω
❻

▼P❖✼◗✱❵❢◗■❬✜①✼❣❯❩✜❙❛♦✼④➀❘❨❣❛④▲❱▲❵❢❙❯❩✜❖✼❚ s■❘❨♦➛②❴◗➧❬✜①✼❚✆❚❽❘❨❵❢❙❯✇■◗■♣➁❘❥❬✕❳⑥❱▲❣❯❤❣❛❱✗❞♥❬❏❿
í ❻ ☞ ❖✼❱❷❱❥❬✜◗❾❘❨♦✫❙❯♦❝❙③❩❢❙❛❘▲❣✌❬✙❖❴❘❨❪❁◗

Ω0
❻➯ ❻ → ❩✜◗■❵❢❘❨❩✜❙❛❱▲♦✫①✼♦t❩✜❙❛❣✌sr❱❥♦❷✐▲◗❏❵❢④▲◗■♦❝sr◗❅❳⑥❱▲❵

n ≥ 0
❧➄✸❘❥➅ ☞ ❱▲❚✆❪✼①✼❩✜◗

dn

❬✙❱❥❣❯①✼❩✜❙❛❱▲♦❫❱▲❳❝❩❢❖✼◗P❪✼❵✜❱❥②✼❣❛◗❏❚ô➄✸➯❥➅õ❞✉❙③❩❢❖
Ω =

Ωn
❻➄✺②❴➅✱ñ❷◗❏❩
Ωn+1 = (Id−hndn)(Ωn)

❧❝❞✉❖✼◗■❵✜◗
hn

❙❛❬♥❘❽❬✜❚❽❘❨❣❛❣❪❁❱❥❬✜❙③❩❢❙❯✐❥◗➣❵❢◗■❘▲❣ ❻
✢✰✯✜✛
✢ ✡ ✩

➎t➍✙➓ ➌
✲ ✫

➓➔➒✆➐
✪
➌
✤
➓
✡ ★
➎
✄
➌
✲ ✪ ✫✧✪

➌
✲
➎❈➐

→ ♦❜❩✜❖✼◗P❳⑥❱❥❣❯❣❛❱✗❞✉❙❛♦✼④❝❧❨❬✜◗❏✐❥◗❏❵❼❘❨❣❷❘❨❣❛④▲❱▲❵❢❙❯❩✜❖✼❚✆❙❭s⑤♣✼◗r❩❢❘▲❙❯❣❭❬⑧❘❨❵❢◗P♣✈❙❛❬❢sr①❴❬✜❬✜◗■♣❞✉❖✼❙❭s❼❖✫❚✆❘▲➇▲◗➣❩✜❖❝◗❾❚✕◗❏❩✜❖✼❱✈♣✡❩✜❵❢①✼❣❛❦✭◗rq✭s❏❙❯◗■♦❥❩❅❘▲♦❝♣✡◗rù❈◗■s↔❩❢❙❯✐❥◗ ❻
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→ ❩✉❙❭❬P❞➆◗■❣❯❣➥➇❷♦✼❱✗❞✉♦✬❩✜❖❝❘❨❩♥♦t①❝❚✕◗■❵✜❙❭s❏❘▲❣➥❬✙❖❝❘▲❪❴◗➃❱❥❪✈❩✜❙❛❚✆❙❯✇❊❘✗❩✜❙❛❱▲♦✡❚❽❘✿❦❦❷❙❛◗❏❣❭♣➤❱❥❪✈❩✜❙❛❚❽❘❨❣✕♣✈◗■❬✜❙❯④❥♦❝❬✱❞✉❙❯❩✜❖✣❱t❬✜s❏❙❯❣❛❣❛❘❨❩✜❙❛♦✼④✎②❁❱▲①✼♦❝♣❝❘❨❵❢❙❯◗❊❬➀➄⑥❙ ❻ ◗ ❻❖❝❘✿✐❷❙❛♦✼④✠❪❴◗❊❘❨➇✈❬✭❘❨♦❴♣➁❞⑤◗❏❣❛❣❛❬✆❱▲❳➣❣❛◗❏♦❝④❨❩✜❖✎❬❢s❏❘▲❣❯◗✚❱❨❳➈❩✜❖✼◗✱❱❥❵❢♣✼◗❏❵❽❱❨❳❩❢❖✼◗✱❚✆◗■❬✜❖☛❬✙❙❛✇❏◗✿➅ ❻ ▼õ❱◆❘✿✐▲❱❥❙❛♣◆❩✜❖✼❙❭❬✭❪✼❵❢❱▲②❝❣❯◗■❚✫❧✞❱▲♦✼◗✱s❏❘▲♦✎❘▲♣✼♣➠❘❪❁◗❏❵❢❙❯❚✆◗❏❩✜◗❏❵✆❪❁◗❏♦❝❘▲❣❯❙❛✇■❘❨❩✜❙❛❱▲♦➟❩✜❱✴❩✜❖✼◗✱s❏❱❥❬✙❩✕❳⑥①❝♦❝s↔❩❢❙❯❱❥♦
J
❧⑧②✼①✈❩✆❩❢❖✼◗❵❢◗■❬✜①✼❣❯❩✜❙❛♦✼④➧❬✙❱❥❣❯①✼❩✜❙❛❱▲♦➀❞✉❙❛❣❯❣⑤♣✈◗❏❪❁◗❏♦❝♣◆❱▲♦✠❩✜❖✼◗✡❞➆◗■❙❯④❥❖t❩✯❱❨❳P❩✜❖✼◗✡❪❴◗❏❤♦❝❘▲❣❯❙❛✇■❘❨❩✜❙❛❱▲♦ ❻ ì ◗✡❪✼❵✜◗❏❳⑥◗❏❵❾❩❢❱➧①❝❬✜◗✬❘✱❵❢◗❏④❥①✼❣❛❘▲❵✜❙❛✇■❘❨❩✜❙❛❱▲♦✠❪✼❵❢❱❷s❏◗■♣✈①❝❵✜◗❞✉❖✼❙❭s❼❖❫◗❏↕✈❪✼❣❯❙❭sr❙❯❩✜❣❛❦❫❬✜❚✆❱t❱▲❩✜❖✼◗❊❬õ❩✜❖✼◗✉❬✜❖❝❘❨❪❁◗⑤❘❨❩❍◗❊❘▲s❼❖❜❙③❩❢◗❏❵❼❘✗❩✜❙❛❱▲♦ ❻ ▼õ❱❩❢❖✼❙❛❬✶◗■♦❝♣➥❧✿❞⑤◗➆❙❛♦t❩✜❵❢❱❷♣✼①❝sr◗➆❩✦❞➆❱➃♣✈❙❯ù❁◗■❵✜◗■♦t❩❍❚✆◗■❬✜❖✼◗❊❬✶❱❨❳
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❻ ë⑤❩⑧◗■❘▲s❼❖
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Sh

❙❭❬⑤①❝❬✙◗❊♣❽❩❢❱❫❪❁◗❏❵✜❳⑥❱▲❵❢❚❡❩✜❖✼◗➈⑦❝♦✼❙❯❩✜◗➣◗❏❣❯❤◗■❚✕◗■♦t❩⑤❘❨♦❴❘❨❣❛❦❷❬✜❙❭❬✞❘❨♦❴♣✬sr❱❥❚✆❪✼①✈❩✜◗❅❩✜❖✼◗➃♣✈◗❊❬✜s❏◗❏♦t❩⑤♣✈❙❛❵❢◗■s↔❩❢❙❯❱❥♦
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▼P❖✼◗➜♣✈❙❭❬✙❪❝❣❛❘❥sr◗❏❚✆◗■♦❥❩✫①❝❬✜①❝❘❨❣❛❣❯❦➠❪✼❵❢◗■❬✜◗❏♦t❩❼❬✡❬✜❙❯♦❝④▲①✼❣❭❘❨❵❢❙③❩❢❙❯◗❊❬✡❘❨❩✡❩❢❖✼◗s❏❱▲❵❢♦✼◗❏❵❼❬⑤❱❨❳✌❩❢❖✼◗✯❬✜❖❝❘❨❪❁◗➃❱▲❵♥❘✗❩P❩❢❖✼◗✯s❼❖❝❘❨♦❝④▲◗■❬⑤❱▲❳❍②❁❱▲①✼♦❴♣✼❘❨❵❢❦✬sr❱❥♦✈❤♣✈❙❯❩✜❙❛❱▲♦❴❬⑧❩✦❦❷❪❴◗ ❻ → ♦✭❬✜①❝s❼❖✭s❏❘❥❬✙◗❊❬❏❧❨❩✜❖✼◗✉❳⑥❱❥❵✜❚❜①✼❣❭❘❽➄✸➳▲➅⑧❙❛❬✞♦✼❱❨❩➆s❏❱▲❵❢❵✜◗❊s↔❩❘▲♦t❦❷❚✆❱▲❵❢◗▲❧❷❘▲❬➆❩❢❖✼◗❾❵✜❙❛④▲❖t❩P❚✆◗❏❚❫②❁◗❏❵✉❱▲❳➺❩✜❖❝◗➃❳⑥❱▲❵❢❚❫①✼❣❭❘❫❙❭❬⑤♦✼❱❨❩✉❞⑤◗❏❣❛❣♣✈◗❏⑦❝♦✼◗❊♣ ❻❴ö ❵✜❱❥❚ô❩✜❖❝◗❫♦❷①✼❚✆◗❏❵❢❙❛s■❘❨❣➥❪❁❱▲❙❛♦t❩❅❱❨❳⑧✐❷❙❯◗■❞❾❧✼❩❢❖✼❙❛❬❅❣❯◗❊❘▲♣✼❬✉❩✜❱❬✙❩✜❵❢❱▲♦✼④✆❱t❬✜s❏❙❯❣❛❣❛❘❨❩✜❙❛❱▲♦❝❬P❱▲❳õ❩❢❖✼◗❫❬✜❖❝❘❨❪❁◗❾♦✼◗❊❘❨❵♥❙❯❩❢❬♥s❏❱▲❵❢♦✼◗❏❵❼❬✉❘❨♦❴♣✫s■❘❨♦❪✼❵❢❱✈♣✈①❝s❏◗✉①✼♦✼❵❢◗■❬✜❱▲❣❛✐▲◗■♣✕❚✆◗■❬✜❖✼❙❛♦✼④✯◗■❵✜❵❢❱▲❵❼❬ ❻ ▼õ❱✯②❷❦❷❪❝❘▲❬❢❬✶❩✜❖❝❙❛❬✞❪✼❵✜❱❥②✈❤❣❛◗❏❚✚❧❍❞➆◗✬❘▲❵✜②❝❙③❩❢❵❢❘▲❵✜❙❛❣❯❦✠❬✙◗❏❩❫❩❢❖✼◗✡❬✜❖❝❘❨❪❁◗✭④❥❵❢❘❥♣✈❙❯◗■♦t❩✯❩✜❱➧✇■◗❏❵❢❱➧♦✼◗❊❘❨❵❩❢❖✼◗✯sr❱❥❵✜♦✼◗■❵❢❬⑤❱▲❳✌❩✜❖❝◗✯❬✙❖❝❘▲❪❴◗ ❻
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✤
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ú➧❘▲♦❷❦✯❬✦❩❢❵✜①❝sr❩✜①✼❵❼❘❨❣✈❱❥❪✈❩✜❙❛❚✆❙❯✇❊❘✗❩❢❙❯❱❥♦❜❪✼❵❢❱▲②❝❣❯◗■❚✆❬õ❳⑥◗❊❘✗❩✜①❝❵✜◗✉❘➣✐▲❱❥❣❯①✼❚✆◗s❏❱▲♦❝❬✙❩✜❵❼❘❨❙❛♦t❩➃❱❥♦➜❩✜❖✼◗✡❘▲♣✈❚✆❙❭❬✜❬✜❙❯②❝❣❯◗❽❱❥❪❴◗■♦➜❬✜◗r❩❼❬ ❻ ▼P❖✼❙❭❬✯sr❱❥♦❝❬✦❩❢❵❢❘▲❙❯♦t❩❙❭❬✞❙❛❚✆❪❴❱t❬✙◗❊♣❽②❷❦✆❙❯♦t❩✜❵❢❱✈♣✈①❝s❏❙❯♦✼④✕❘ ✵ ❘▲④▲❵❼❘❨♦✼④❥◗✉❚❫①✼❣❯❩✜❙❛❪✼❣❛❙❯◗■❵
ℓ
❙❛♦✭❩❢❖✼◗❳⑥❱❥❵✜❚❜①✼❣❛❘❨❩✜❙❛❱▲♦ ❻ ú✱❱▲❵❢◗♥❪✼❵❢◗■s❏❙❛❬✜◗❏❣❛❦▲❧▲❩✜❖✼◗➣♣✈◗■❬❢sr◗■♦❥❩⑤♣✈❙❯❵❢◗■sr❩✜❙❛❱▲♦❽❙❭❬✞♦❝❱✗❞s❏❱▲❚✆❪✼①✈❩❢◗■♣➜❳⑥❵❢❱▲❚ ❩✜❖✼◗✫❬✙❖❴❘❨❪❁◗✡♣✈◗■❵✜❙❛✐✗❘✗❩✜❙❛✐▲◗✬❱❨❳P❩✜❖✼◗ ✵ ❘▲④▲❵❼❘❨♦✼④❥❙❛❘▲♦

J ′(Ω) + ℓV ′(Ω)
❧❁❞✉❖✼◗❏❵❢◗

V (Ω) = |Ω|
♣✈◗❏♦❝❱❨❩✜◗❊❬✉❩❢❖✼◗❫✐❥❱▲❣❛①✼❚✆◗❱▲❳➣❩❢❖✼◗✴❬✜❖❝❘▲❪❴◗

Ω
❻ ▼P❖❝◗➧✐✗❘❨❣❛①✼◗➧❱❨❳❾❩❢❖✼◗ ✵ ❘❨④▲❵❼❘❨♦❝④▲◗✚❚❫①✼❣❯❩✜❙❛❪✼❣❛❙❯◗■❵❙❭❬❫❵❢◗r❳⑥❵❢◗■❬✜❖✼◗❊♣◆❘✗❩✕◗■❘▲s❼❖➀❙❯❩✜◗■❵❢❘❨❩✜❙❛❱▲♦➁❬✜❱✱❩❢❖✼◗✫❬✜❖❝❘▲❪❴◗✫❬✜❘❨❩✜❙❭❬✦⑦❝◗❊❬✯❩❢❖✼◗✐❥❱▲❣❛①✼❚✆◗✆s❏❱▲♦❝❬✙❩✜❵❼❘❨❙❛♦t❩❾❞✉❖✼◗❏♦✠❩✜❖❝◗✬❘❨❣❛④▲❱❥❵✜❙❯❩✜❖✼❚øs❏❱▲♦❷✐▲◗■❵✜④❥◗■❬ ❻ ñ❷❙❯♦❴sr◗❚✆❱✗✐❷❙❯♦❝④➆❩❢❖✼◗❃❚✆◗■❬✜❖➃❙❛❬✌❵✜◗■❣❛❘❨❩✜❙❛✐▲◗■❣❯❦❅s❏❱❥❬✙❩✜❣❛❦▲❧↔❞⑤◗❃♣✈❱✉♦✼❱▲❩✌◗❏♦✈❳⑥❱❥❵❢s❏◗✶◗r↕❷❤❘❥s↔❩✜❣❛❦✕❩✜❖✼◗➣✐▲❱❥❣❯①❝❚✕◗➈sr❱▲♦❴❬✦❩❢❵❢❘▲❙❯♦t❩✞②❁◗r❳⑥❱❥❵✜◗➣sr❱▲♦❷✐❥◗❏❵❢④▲◗❏♦❴sr◗ ❻ → ♦❝❬✦❩❢◗■❘❥♣➥❧❞⑤◗✡❙❛♦❝s❏❵✜◗❊❘▲❬✜◗❽❩✜❖✼◗ ✵ ❘❨④▲❵❼❘❨♦❝④▲◗✭❚❜①✼❣③❩❢❙❯❪❝❣❯❙❛◗❏❵✆❙❯❳♥❩✜❖✼◗✱s❏①✼❵✜❵❢◗❏♦t❩✕✐▲❱▲❣❯❤①✼❚✆◗✯❱▲❳✶❩✜❖✼◗❫❬✜❖❝❘▲❪❴◗✯❙❭❬♥④❥❵✜◗❊❘✗❩❢◗❏❵P❩✜❖❴❘❨♦✚❩✜❖❝◗✯❩❢❘▲❵✜④❥◗r❩♥✐❥❱▲❣❛①✼❚✆◗✯❘❨♦❝♣❞⑤◗❅♣✈◗❊sr❵❢◗■❘▲❬✜◗P❙③❩➆❱❨❩✜❖❝◗❏❵❢❞✉❙❛❬✜◗ ❻t➞ ◗❏✐❥◗❏❵✜❩✜❖✼◗■❣❯◗❊❬✜❬■❧✿❩✜❖❝❙❛❬⑤sr❱❥①✼❣❛♣✕❣❛◗■❘❥♣✕❩✜❱❱t❬✜s❏❙❯❣❛❣❛❘❨❩✜❙❛❱▲♦❝❬✶❱▲❳❈❩✜❖✼◗❅❬✜❖❝❘▲❪❴◗✂✁ ❬⑧✐❥❱▲❣❛①✼❚✆◗ ❻ ▼P❖❷①❝❬■❧▲❞⑤◗✉❵❢◗❏❣❭❘✗↕❫❙❯❩✞❞✉❙❯❩✜❖❩❢❖✼◗✓✐✗❘❨❣❛①✼◗➧❱▲❳➃❩✜❖✼◗ ✵ ❘❨④❥❵❢❘▲♦✼④▲◗✚❚❜①✼❣③❩❢❙❯❪❝❣❯❙❛◗❏❵✫sr❱▲❚✆❪✼①✼❩✜◗■♣☛②t❦➠❘▲❬✙❤❬✜①✼❚✆❙❯♦❝④➃❩✜❖❝❘❨❩❃❩✜❖✼◗✉❱❥❪✈❩✜❙❛❚❽❘❨❣❛❙③❩✦❦✕sr❱❥♦❝♣✈❙❯❩✜❙❛❱▲♦✆❙❛❬✞❬✜❘❨❩✜❙❭❬✦⑦❝◗❊♣➥❧❨♦❝❘▲❚✆◗❏❣❛❦

J ′(Ω) + ℓV ′(Ω) = 0
❧✈❘✗❩P❣❯◗❊❘▲❬✙❩➆❙❛♦✬❩❢❖✼◗➃❘✿✐▲◗❏❵❼❘❨④❥◗♥❬✙◗■♦❝❬✜◗➈❱❥♦✭❩✜❖❝◗②❁❱▲①✼♦❴♣✼❘❨❵❢❦

∂Ω
❧❃❙ ❻ ◗ ❻

ℓ = −
∫

∂Ω
j(Ω) ds/

∫

∂Ω
ds

❞✉❙❯❩✜❖➛❩❢❖✼◗♦✼❱▲❩❢❘❨❩✜❙❛❱▲♦❝❬✞❱❨❳➈➄✙í❊➅ ❻ ú✱❱❥❵✜◗♥❪❝❵✜◗❊sr❙❭❬✙◗■❣❯❦❥❧❨❩✜❖❝◗ ✵ ❘▲④▲❵❼❘❨♦✼④❥◗✉❚❫①✼❣❯❩✜❙❛❪✼❣❛❙❯◗■❵❙❭❬P①✼❪❈♣✼❘✗❩❢◗■♣✚❘✗❩♥◗❊❘▲s❼❖✫❙③❩❢◗❏❵❼❘✗❩✜❙❛❱▲♦✫②❷❦
ℓn+1 = (ℓn + ℓ)/2 + ǫℓ(V − V0),
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❻ → ❳❁❩❢❖✼◗❅❬❢s❏❘▲❣❛❘▲❵⑧❪✼❵✜❱✈♣✈①❴s↔❩
(dn, dn−1)H1(Ω)N
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ë ❩✦❦❷❪✼❙❭s❏❘❨❣❾s❏❱▲♦❷✐▲◗■❵✜④❥◗❏♦❝s❏◗✴sr❵❢❙❯❩✜◗❏❵❢❙❛❱▲♦✎❳⑥❱❥❵➧❬✦❩❢❱▲❪✼❪✼❙❛♦✼④➟❩✜❖✼◗➜❱❥❪✈❩✜❙❯❤❚✆❙❛✇■❘✗❩❢❙❯❱❥♦➧❣❛❱t❱❥❪➧❞⑤❱▲①✼❣❭♣✚②❴◗❜❩✜❱✫s❼❖✼◗■s❼➇✫❩❢❖❝❘✗❩➈❩✜❖✼◗✆❬✙❖❴❘❨❪❁◗❜♣✈◗■❵✜❙❛✐✗❘✗❤❩❢❙❯✐❥◗
J ′(Ω)

❙❛❬✬❬✙❚❽❘❨❣❛❣✉◗❏♦❝❱▲①✼④❥❖➟❙❛♦✎❬✙❱❥❚✕◗✱❘▲❪✼❪✼❵❢❱▲❪✼❵❢❙❛❘❨❩✜◗✡♦✼❱▲❵❢❚ ❻➲❅❱✗❞➆◗■✐▲◗❏❵❊❧✿❬✙❙❛♦❝sr◗✉❞⑤◗P①❝❬✜◗Ps❏❱▲♦t❩✜❙❛♦❷①✼❱▲①❴❬✶④▲❵❼❘▲♣✈❙❛◗❏♦t❩❢❬P➄✸❘❨♦❝♣✕♦✼❱▲❩⑧♣✼❙❛❬✙❤s❏❵✜◗❏❩✜◗✕❱▲♦✼◗❊❬❢➅r❧❁❙❯❩➃❙❛❬➃❖✼❱❥❪❴◗■❣❯◗❊❬✜❬❅❩✜❱✫◗r↕✈❪❁◗■sr❩➃✐❥◗❏❵❢❦✱❬✙❚❽❘❨❣❛❣✶④▲❵❼❘▲♣✈❙❛◗❏♦t❩♦✼❱❥❵✜❚❲②❁◗■s■❘❨①❝❬✜◗✬❱▲❳♥♦t①❝❚✕◗■❵✜❙❭s❏❘▲❣⑤♣✼❙❛❬❢sr❵❢◗r❩❢❙❯✇❊❘✗❩✜❙❛❱▲♦➀◗■❵✜❵❢❱▲❵❼❬ ❻ ▼P❖✼◗❏❵❢◗❙❭❬❾❘✫❚✕❱❥❵✜◗✆❬✜◗❏❵❢❙❯❱❥①❝❬➣❱▲②❝❬✙❩❢❘❥sr❣❛◗❫❩❢❱✫①❴❬✙❙❛♦✼④✱❘✚❬✦❩❢❵✜❙❭s↔❩✯sr❱❥♦❷✐▲◗❏❵❢④▲◗■♦❝sr◗s❏❵✜❙❯❩✜◗■❵✜❙❛❱▲♦✫❞✉❖✼❙❭s❼❖✡❙❭❬✉❣❛❙❯♦✼➇❥◗■♣✡❩✜❱✆❩❢❖✼◗❾❙❛♦❝❘❨②✼❙❛❣❛❙③❩✦❦✡❱❨❳⑧s❼❖❝❘❨♦✼④❥❙❯♦❝④❫❩❢❖✼◗❩❢❱▲❪❁❱▲❣❛❱▲④▲❦ ❻ → ♦❴♣✈◗❏◗❊♣➥❧✶❙③❩❽❖❝❘▲❪✼❪❴◗■♦❝❬✆ét①✼❙③❩❢◗✫❳⑥❵✜◗❊é❥①❝◗❏♦t❩✜❣❛❦➜❩✜❖❝❘❨❩✆❩✦❞➆❱♣✈❙❯ù❈◗❏❵❢◗❏♦t❩❅❪❝❘▲❵✙❩❼❬✉❱❨❳✶❩✜❖❝◗❫❬✙❖❴❘❨❪❁◗❾②❴❱❥①✼♦❝♣✼❘▲❵✜❦✡❩✜◗■♦❝♣✫❩✜❱✭❚✆◗■❵✜④❥◗ ❻ → ♦❬✜①❝s❼❖☛❘◆s■❘▲❬✜◗▲❧⑧❩❢❖✼◗✴♣✈◗❊❬✜s❏◗❏♦t❩✡❬✙❩✜◗■❪☛❙❛❬✡♣✈◗■s❏❵✜◗❊❘▲❬✜◗■♣➛❙❛♦☛❱▲❵❼♣✈◗❏❵✭❩✜❱❘✿✐❥❱▲❙❭♣❽❵✜◗■✐▲◗■❵❢❬✜◗■♣✆❩❢❵✜❙❭❘❨♦❝④▲❣❛◗■❬P❘✗❳⑨❩❢◗❏❵P❚✆❱✗✐t❙❛♦✼④❜❩✜❖✼◗➃❚✆◗■❬✜❖➜➄✺❬✜◗❏◗✯ñ❷◗■sr❤❩❢❙❯❱❥♦✱➯ ❻ ☎❝❻ ➫t➅ ❻ → ❩➣s❏❘❨♦✚②❁◗■s❏❱▲❚✆◗❫❘❨❣❛❚✆❱❥❬✙❩✉✇❏◗❏❵❢❱❽◗❏✐❥◗❏♦✚❙❯❳❍❩❢❖✼◗❫❬✜❖❝❘❨❪❁◗♣✈◗■❵✜❙❛✐✗❘✗❩❢❙❯✐❥◗
J ′(Ω)

❙❭❬✆❣❛❘▲❵✜④❥◗✡❘▲♦❝♣➀❩❢❖✼◗✚❱▲❪✈❩❢❙❯❚❽❘❨❣✉❬✜❖❝❘❨❪❁◗✫❙❛❬✆♦✼❱▲❩❵❢◗■❘❥s❼❖✼◗■♣ ❻ ☞ ❱▲♦❝❬✜◗■ét①✼◗■♦t❩✜❣❛❦▲❧❍❞➆◗✚♣✈❱✠♦✼❱❨❩✕①❝❬✙◗✚❘❨♦❷❦➀sr❱❥♦❷✐▲◗❏❵❢④▲◗■♦❝sr◗s❏❵✜❙❯❩✜◗■❵✜❙❛❱▲♦✬❩✜❱❽❬✦❩❢❱▲❪✡❩✜❖✼◗❾❘▲❣❯④❥❱▲❵❢❙③❩❢❖✼❚ ❻ ì ◗➃❙❯♦❴❬✦❩❢◗■❘▲♣✬⑦✼↕✭❩❢❖✼◗❾♦❷①✼❚✕❤②❁◗❏❵➈❱❨❳❃❙❯❩✜◗❏❵❼❘✗❩❢❙❯❱❥♦❝❬♥❘❨❩❅❩✜❖❝◗✯②❴◗■④▲❙❛♦✼♦✼❙❛♦✼④✬❱▲❳✶❩✜❖✼◗✕❘❨❣❛④▲❱▲❵❢❙❯❩✜❖✼❚ ❻ → ❳❃❙❯❩❙❭❬➈❩✜❱❷❱✫❬✜❚❽❘❨❣❛❣✸❧❁❞⑤◗✕s■❘❨♦✴❘▲❣❯❞P❘✿❦✈❬♥❵❢◗■❬✙❩❢❘▲❵✙❩➣❙③❩❾❞✉❙❯❩✜❖➧❩❢❖✼◗✆❪✼❵❢◗❏✐❷❙❯❱❥①❝❬⑦❝♦❴❘❨❣➺❬✜❖❝❘❨❪❁◗✯❘▲❬⑤❙❛♦✼❙③❩❢❙❛❘▲❣➺④▲①❝◗■❬❢❬ ❻
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✞

➑
✫✧✪

➍✦➓➔➒
✤☛✡ ✢ ✭ ✭ ✡

➓❐➒
✤
➌↔➓❐➎❴➋

★ ✄
➎❷➍P➌

✲ ✪ ✟
➎❴➑❝➋✼➐

✤
➍
✥ ✦ ✤

➍✦➓
✤
➌r➓➔➎❴➋

✫✬✪
➌
✲
➎❈➐

▼P❖✼◗✉❘▲②❴❱✗✐❥◗➆❘❨❣❛④▲❱❥❵✜❙❯❩✜❖❝❚✣❖❝❘▲❬❍②❁◗❏◗❏♦✆❬✜①❝s❏s❏◗■❬❢❬✦❳⑥①✼❣❛❣❛❦➃❩✜◗■❬✙❩✜◗❊♣❫❙❛♦
N =

2
❬✜❪❝❘▲s❏◗✭♣✈❙❛❚✕◗■♦❝❬✜❙❯❱❥♦❝❬➃❳⑥❱▲❵❜♣✈❙③ù❈◗❏❵❢◗❏♦t❩✯➇❷❙❛♦❝♣✼❬❾❱▲❳✉❬✙❩✜❵❢①❝sr❩✜①✼❵❼❘❨❣⑧❱❥❪✈❤❩❢❙❯❚✆❙❛✇■❘✗❩❢❙❯❱❥♦➀❪✼❵❢❱▲②✼❣❛◗❏❚❽❬■❧➺❙❯♦➁❪❝❘❨❵✜❩✜❙❭sr①✼❣❭❘❨❵❾❱❥♦➜❩✜❖✼◗✫sr❣❭❘▲❬❢❬✙❙❭s❏❘▲❣❃s❏❘▲♦✈❤❩❢❙❯❣❛◗❏✐❥◗❏❵♥❘❨♦❴♣✬④❥❵✜❙❛❪✡❱❥❪✈❩✜❙❛❚✆❙❯✇❊❘✗❩❢❙❯❱❥♦ ❻

✢✰✯✝✆ ✯❭➉
✟

➎
✫✠✭ ✡

➓
✤
➋✼➒
✪
➎
✭
➌r➓
✫
➓
✮ ✤
➌r➓➔➎❴➋

✵ ◗r❩
Ω
②❁◗♥❩✜❖❝◗❅❵❢◗r❳⑥◗❏❵❢◗❏♦❴sr◗❅s❏❱▲♦✈⑦❝④❥①✼❵❼❘✗❩✜❙❛❱▲♦✆❱▲❳✌❘❾❣❯❙❛♦✼◗❊❘❨❵✞❙❭❬✜❱❨❩✜❵❢❱▲❪❝❙❛s◗■❣❛❘❥❬✦❩❢❙❛s⑧②❁❱✈♣✈❦ ❻ ì ◗➆❘▲❬❢❬✜①✼❚✆◗✶❩✜❖❝❘❨❩

Ω
❙❛❬➺⑦✼↕✈◗■♣❾❱❥♦

ΓD

❧❊❬✜①✼②✼❚✆❙❯❩✙❩❢◗■♣❩❢❱✭❬✙①✼❵✜❳✺❘▲s❏◗➃❳⑥❱▲❵❼sr◗❊❬
g
❱▲♦

ΓN

❘❨♦❝♣✡❳⑥❵❢◗❏◗❾❱▲♦
Γopt

❧❝❞✉❖✼◗■❵✜◗
∂Ω =

ΓD ∪ ΓN ∪ Γopt
❻ ▼P❖❝◗➃♣✼❙❛❬✜❪✼❣❭❘▲sr◗■❚✆◗❏♦t❩⑤❱▲❳➺❩✜❖❝◗➃❬✙❩✜❵❢①❝sr❩✜①✼❵❢◗

u(Ω)❙❭❬⑤❩✜❖✼◗✯❬✜❱▲❣❛①✈❩❢❙❯❱❥♦✡❱▲❳õ❩❢❖✼◗❾❣❯❙❛♦✼◗❊❘❨❵P◗❏❣❭❘▲❬✙❩✜❙❭sr❙❯❩✦❦✬❬✜❦❷❬✙❩✜◗■❚














div(Ae(u(Ω))) = 0
❙❛♦

Ω,
(Ae(u(Ω))n = g

❱❥♦
ΓN ,

(Ae(u(Ω))n = 0
❱❥♦

Γopt,
u(Ω) = 0

❱❥♦
ΓD,

➄✸➫❥➅



�

❞✉❖✼◗■❵✜◗
e(u) = (∇u + ∇uT )/2

❙❭❬✉❩❢❖✼◗❜❬✙❩✜❵❼❘❨❙❛♦✫❩✜◗❏♦❴❬✙❱❥❵■❧❁❘❨♦❝♣
n❙❭❬⑧❩❢❖✼◗❅❱❥①✈❩✦❞⑤❘▲❵❢♣✕♦✼❱❥❵✜❚❽❘▲❣✈❩✜❱❾❩❢❖✼◗❅②❁❱▲①❝♦❝♣✼❘❨❵❢❦▲❧

A
❙❭❬⑧❩✜❖❝◗➈➲♥❱❷❱❥➇▲◗ ✁ ❬❣❭❘✿❞➡❱❥❵⑤◗■❣❛❘❥❬✦❩❢❙❛s❏❙③❩✦❦✭❩✜◗❏♦❴❬✙❱❥❵♥♣✈◗r⑦❝♦❝◗■♣✫②❷❦

Aξ = 2µξ + λ(Tr ξ) Id
➄✺ðt➅

❞✉❙❯❩✜❖ ✵ ❘▲❚✂✁➃❚✆❱✈♣✈①✼❣❛❙
λ
❘❨♦❝♣

µ
❻ ▼P❖✼◗➃✐✗❘❨❵❢❙❛❘❨❩✜❙❛❱▲♦❝❘▲❣❝❳⑥❱❥❵✜❚❜①✼❣❭❘✗❩✜❙❛❱▲♦❱▲❳❾➄✸➫❥➅r❧✌❞✉❖✼❙❭s❼❖➀❖❝❘▲❬❾❩✜❱➧②❁◗✭❙❛❚✕❪❝❣❯◗■❚✕◗■♦t❩✜◗■♣➜❙❛♦➜❩✜❖❝◗ ⑩❷❶✼❸t❸❥⑩✼❸✿❹❁❺t❺❬✜❱❨❳⑨❩✦❞P❘❨❵❢◗✕➄✸❬✙◗■◗❾❬✙◗❊s↔❩✜❙❛❱▲♦✱➯ ❻ ☎✼❻ ➯▲➅r❧✈❙❛❬

∫

Ω

(2µe(u(Ω)) · e(q) + λdiv u(Ω) div q) dx =

∫

ΓN

g · q ds

❳⑥❱❥❵✌◗❏✐❥◗❏❵❢❦
q ∈ H1(Ω)2

❬✜①❝s❼❖➃❩✜❖❴❘✗❩
q = 0

❱▲♦
ΓD

❻ ì ◗➆s❏❱▲♦❝❬✜❙❛♣✼◗❏❵❩❢❖✼◗✯sr❱❥❚✕❪❝❣❯❙❭❘❨♦❝s❏◗➃❚✕❙❛♦✼❙❛❚✆❙❯✇❊❘✗❩✜❙❛❱▲♦✫❪✼❵❢❱▲②✼❣❛◗❏❚
min

Ω
c(Ω) =

∫

ΓN

g · u(Ω) ds,

❱✗✐❥◗❏❵✬❘▲❣❯❣➈❱▲❪❁◗❏♦➡❬✜◗r❩❼❬
Ω

❬✙①❴s❼❖➠❩✜❖❝❘❨❩
ΓN ∪ ΓD ⊂ ∂Ω

❧➆❞✉❙③❩❢❖❪✼❵❢◗■❬❢sr❵❢❙❛②❴◗❊♣➧✐▲❱❥❣❯①❝❚✕◗
V0
❻ ▼P❖❝◗❜❳⑥①❝♦❝s↔❩❢❙❯❱❥♦❝❘❨❣

c
❘▲♣✼❚✕❙❯❩❢❬❾❘✚❬✜❖❝❘❨❪❁◗♣✈◗■❵✜❙❛✐✗❘✗❩❢❙❯✐❥◗✆➄✸❬✙◗■◗➃◗ ❻ ④ ❻ ➄✺ë❅❣❯❣❭❘❨❙❛❵❢◗➣◗❏❩❅❘❨❣ ❻ ➯❨➭❥➭❨ð▲➅✜➅

< c′(Ω), θ >= −

∫

Γopt

(2µ|e(u(Ω))|2+λ(div u(Ω))2)(θ·n)ds.

➄♠➳▲➅
✢✰✯✝✆ ✯ ✢
✢ ✞

➑
✫✬✪

➍✦➓➔➒
✤ ✡ ✪☎✄ ✤ ✫✠✭ ✡ ✪✝✆ ✱ ✲ ✪

➒
✤
➋❷➌r➓

✡ ✪ ✦ ✪
➍

▼õ❱➧❙❛❣❯❣❛①❝❬✙❩✜❵❼❘✗❩✜◗✬❩✜❖✼◗✡❪❴◗■❵✙❳⑥❱❥❵✜❚❽❘▲♦❝sr◗❽❱▲❳♥❱▲①✼❵ ⑩t❶✼❸❷❸❥⑩✼❸❊❹❁❺❷❺ ❬❢sr❵❢❙❯❪✈❩❊❧❞⑤◗➆s❏❱▲♦❝❬✜❙❛♣✼◗❏❵➺❩❢❖✼◗Psr❱▲❚✆❪✼❣❛❙❭❘❨♦❝s❏◗✞❚✆❙❯♦❝❙❯❚✆❙❛✇■❘✗❩❢❙❯❱❥♦❫❱▲❳✈❩✜❖✼◗➆❳⑥❱▲❣❛❣❯❱✗❞✉❙❛♦✼④s■❘❨♦t❩✜❙❛❣❯◗■✐▲◗■❵ ❻

Ω ΓN

ΓD

ΓD

g

Γopt

Γopt

Γopt

✞✠✟☛✡✌☞✎✍✑✏ ØtÒ➔Ù✦Ò③Ñ■Ð❝ç➏á❷Ñ✓✒✈Ô
▼P❖✼◗➜❘❨❣❛④▲❱❥❵✜❙❯❩✜❖❝❚ ❙❛❬✫❙❛♦✼❙③❩❢❙❛❘▲❣❯❙❛✇❏◗❊♣➡❞✉❙❯❩✜❖➤❩✜❖❝◗✠❬✜❖❝❘❨❪❁◗➀❬✙❖❝❱✗❞✉♦☛❱▲♦⑦❝④❥①✼❵❢◗◆í➧❩❢❱➁❞✉❖✼❙❭s❼❖➡❬✜◗❏✐▲◗■❵❢❘▲❣❅❖✼❱❥❣❯◗❊❬✭❖❝❘✿✐❥◗➧②❁◗❏◗❏♦✄❘▲♣✼♣✼◗■♣ ❻ ▼P❖✼◗❵❢◗■❬✜①✼❣❯❩✜❙❛♦✼④✬❱❥❪✈❩✜❙❛❚❽❘❨❣✶♣✈◗■❬✜❙❯④❥♦❝❬➣❘❨❵❢◗❜♣✈❙❭❬✙❪❝❣❛❘✿❦❥◗■♣✱❱❥♦✱⑦❝④▲①❝❵✜◗✫➄✸➯✿❤❅û❨➅ ❻ë➈❬P◗r↕✈❪❴◗❊s↔❩❢◗■♣➥❧❷❩❢❖✼◗❾sr❱▲❚✆❪✼❣❛❙❭❘❨♦❝s❏◗➣♣✈◗❊sr❵❢◗■❘❥❬✙◗❊❬➆❘❥❬✞❩❢❖✼◗➃♦❷①✼❚❫②❁◗❏❵P❱❨❳❖✼❱❥❣❯◗❊❬✌④❥❵✜❱✗❞♥❬ ❻✿➞ ◗❏✐❥◗❏❵✜❩✜❖✼◗■❣❯◗❊❬✜❬■❧■❩✜❖✼◗⑤②❴◗■♦✼◗r⑦❝❩✶②❁◗■s❏❱▲❚✆◗■❬❍✐❥◗❏❵❢❦➣❞⑤◗■❘▲➇❬✙❩❢❘▲❵✙❩❢❙❯♦✼④✕❳⑥❵❢❱▲❚ ❩❢❖✼❵❢◗❏◗➃❖✼❱▲❣❛◗■❬ ❻

→ ♦✼❙❯❩✜❙❭❘❨❣✌❬✜❖❝❘❨❪❁◗ ➞ ❱❽❖✼❱▲❣❛◗ í➃❖✼❱▲❣❛◗
☞ ❱❥❚✕❪❝❣❯❙❭❘❨♦❝s❏◗ ðt➭ ❻ ➳ ➯▲➫ ❻ ➫ í■î ❻ ☎➯❜❖✼❱▲❣❛◗■❬ ➫✕❖✼❱▲❣❛◗■❬ ➳❫❖❝❱▲❣❛◗■❬ ☎ ❖✼❱❥❣❯◗❊❬

☞ ❱❥❚✕❪❝❣❯❙❭❘❨♦❝s❏◗ í❊ï ❻ ➫ í✿û ❻ ➳tû í✿û ❻ ➳✈í í✗û ❻ ð❷û

✞✠✟☛✡✌☞✕✔ Ö✖✒▲Ù✦Ò✘✗✯Ñ■Ð✚✙❥Ô❢ç➏Ò✜✛■Ø✂✢❃Ò➔Ù✦á✆Øtß➣átß❊Ð❐Ô

✞✠✟☛✡✌☞✕✣ Ö✖✒▲Ù✦Ò✘✗✯Ñ■Ð✚✙❥Ô❢ç➏Ò✜✛■Ø✂✢❃Ò➔Ù✦á✆ß❊Ø❥Ô✉átß■Ð③Ô

✞✠✟☛✡✌☞✥✤ Ö✖✒▲Ù✦Ò✘✗✯Ñ■Ð✚✙❥Ô❢ç➏Ò✜✛■Ø✂✢❃Ò➔Ù✦á✕Ù✦✢❍ß➃átß■Ð❐Ô❼ç

✢✰✯✝✆ ✯✞✝
✧
➍✙➓
✭
➎
✭
➌r➓
✫
➓
✮ ✤
➌r➓➔➎❁➋

ì ◗✬sr❱❥♦❝❬✜❙❛♣✈◗■❵✯❩❢❖✼◗✭❱▲❪✼❩✜❙❛❚✕❙❛✇■❘❨❩✜❙❛❱▲♦➀❱▲❳✉❘➧④▲❵❢❙❯❪✼❪❝❙❯♦✼④✱❚✆◗❊s❼❖❝❘❨♦✼❙❭❬✜❚❚❽❘▲♣✼◗❽❱❨❳✉❘✚❣❯❙❛♦✼◗■❘▲❵✯◗❏❣❭❘▲❬✙❩✜❙❭s✆❚❽❘✗❩❢◗❏❵❢❙❛❘▲❣ ❻ ì ◗✭①❝❬✜◗✆❩✜❖✼◗✡❬✜❘▲❚✕◗✆♦✼❱▲❤



�

✞✠✟☛✡✌☞✂✁ Ö✖✒▲Ù✦Ò✘✗✯Ñ■Ð✚✙❥Ô❢ç➏Ò✜✛■Ø ✢❃Ò➔Ù✦á❜Ù✦á❥Ó✦Ô❢Ô✉átß❊Ð❐Ô❼ç

✞✠✟☛✡✌☞✂✄ Ö✖✒▲Ù✦Ò✘✗✯Ñ■Ð✚✙❥Ô❢ç➏Ò✜✛■Ø ✢❃Ò➔Ù✦á✆☎✞✝❊ÔPátß■Ð③Ô❢ç

✞✠✟☛✡✌☞✠✟ Ö✖✒▲Ù✦Ò✘✗✯Ñ■Ð✚✙❥Ô❢ç➏Ò✜✛■Ø ✢❃Ò➔Ù✦á✕ç➏Ò☛✡✕á❥ß❊Ð❐Ô❼ç
❩❼❘✗❩✜❙❛❱▲♦❴❬♥❩❢❖❝❘❨♦✓❩✜❖✼❱t❬✙◗❜❱❨❳➆❬✜◗■sr❩✜❙❛❱▲♦✴➯ ❻ ➳ ❻ í ❻❴➞ ◗■✐▲◗■❵✙❩❢❖✼◗❏❣❛◗■❬❢❬❏❧❁❞⑤◗❜❘▲❬✙❤❬✜①✼❚✆◗✚❩✜❖❝❘❨❩✭❩✜❖❝◗➧②❴❱❥①✼♦❝♣✼❘▲❵✜❦

∂Ω
❱▲❳➃❩✜❖✼◗➧❬✙❩✜❵❢①❝s↔❩❢①✼❵❢◗➧❬✙❪✼❣❛❙❯❩❢❬✭❙❛♦❳⑥❱❥①✼❵✞❪❝❘▲❵✙❩❼❬ ❻ ▼P❖✼◗➈④▲❵❢❙❯❪❽❙❭❬⑧⑦✼↕✈◗❊♣❽❱▲♦
ΓD

❧t❬✜①✼②✼❚✆❙❯❩✙❩✜◗❊♣❽❩❢❱❜❬✜①✼❵✙❳✺❘❥sr◗❣❛❱❥❘❥♣✼❬✞❱❥♦
ΓN

❧❷❳⑥❵❢◗❏◗➣❱▲♦
Γopt

❧✼❘❨♦❝♣✬❙❯♦✫②✼❙❛❣❛❘❨❩✜◗■❵❢❘▲❣❁s❏❱▲♦t❩❢❘❥s↔❩P❱▲♦
Γc❞✉❖✼◗■❵✜◗✯❩✜❖✼◗❜❪✼❙❯◗❊sr◗❾❩❢❱✭④▲❵❢❙❛❪✱❣❯❙❛◗■❬❜➄✺❬✜◗❏◗❾⑦❝④❥①✼❵❢◗❫ï❥➅ ❻ ▼P❖✼◗✕♣✈❙❛❬✜❪✼❣❭❘▲s❏◗r❤❚✆◗❏♦t❩

u(Ω)
❱❨❳➣❩✜❖✼◗✱④❥❵✜❙❛❪➛❙❛❬✆❩❢❖✼◗➧❬✜❱▲❣❛①✈❩✜❙❛❱▲♦➠❱❨❳➣❩✜❖❝◗✚❳⑥❱▲❣❛❣❯❱✗❞✉❙❛♦✼④✐✗❘❨❵❢❙❭❘✗❩✜❙❛❱▲♦❴❘❨❣❁❳⑥❱▲❵❢❚❫①✼❣❭❘✗❩❢❙❯❱❥♦

ö ❙❛♦❝♣
u(Ω) ∈ W (Ω) := {q ∈ H1(Ω)2 : q = 0

❱❥♦
ΓD,❘❨♦❝♣

q · n = 0
❱▲♦

Γc},

❬✜①❝s❼❖✡❩✜❖❝❘❨❩✉❳⑥❱▲❵✉◗❏✐❥◗❏❵❢❦✆❩✜◗❊❬✦❩✉❳⑥①✼♦❴s↔❩✜❙❛❱▲♦
v ∈ W (Ω)

❧
∫

Ω

2µe(u(Ω)) · e(v) + λdiv u(Ω) div vdx =

∫

ΓN

g · vds.

✌✎✍✑✏✓✒✕✔✗✖✌☞❅ì ◗✯❘▲❬❢❬✙①❝❚✕◗➃❩❢❖❝❘✗❩✉❩❢❖✼◗❫s❏❱▲♦t❩❢❘❥s↔❩✉②❴◗❏❩✦❞➆◗■◗❏♦✫❩✜❖❝◗❾④▲❵❢❙❯❪❘▲♦❝♣➧❩❢❖✼◗✆②❴❱✈♣✈❦✴❙❛❬➃②❝❙❯❣❭❘✗❩❢◗❏❵❼❘❨❣ ❻ → ❩✯❞⑤❱▲①❝❣❛♣✴②❴◗✆❚✆❱▲❵❢◗✆❵✜◗❊❘❨❣❛❙❛❬✙❩✜❙❭s❫❩✜❱s❏❱▲♦❝❬✜❙❛♣✼◗❏❵P❘❨♦✬①❝♦✼❙❯❣❭❘✗❩❢◗❏❵❼❘❨❣➥sr❱❥♦t❩❢❘▲sr❩⑤❙❛♦❝❬✙❩✜◗❊❘▲♣➥❧❷②✼①✈❩✉❙❯❩✉❞➆❱❥①✼❣❛♣✬❣❯◗❊❘▲♣❩❢❱✆❘✕♦✼❱❥♦✚❣❯❙❛♦✼◗■❘▲❵■❧✼❘▲♦❝♣✬❩✜❖❷①❝❬✉❚❜①❝s❼❖✡❚✆❱❥❵✜◗❾♣✈❙❯q✭sr①✼❣❯❩■❧✼❪❝❵✜❱❥②✼❣❯◗■❚ ❻
ì ◗❾❞⑤❘▲♦t❩⑤❩❢❱✆❚✆❘❨↕✈❙❯❚✆❙❛✇❏◗➣❩✜❖✼◗❾❪❝❵✜◗❊❬✜❬✜①✼❵❢◗

P (Ω)

P (Ω) = −

∫

Γc

(σ(Ω)n) · n ds,

❱▲❳➺❩✜❖✼◗➣④▲❵❢❙❛❪✬❱▲♦✭❩✜❖✼◗➃❪✼❙❛◗■s❏◗▲❧❷❞✉❖✼◗❏❵❢◗
σ(Ω)

❙❭❬➆❩✜❖✼◗➃❬✦❩❢❵✜◗❊❬✜❬➆❩❢◗❏♦❝❬✜❱▲❵❊❧
σ(Ω) = 2µe(u(Ω)) + λdiv(u(Ω)) Id .

▼P❖✼◗➃❪✼❵❢◗■❬❢❬✜①✼❵✜◗
P (Ω)

s❏❘▲♦✡②❁◗❾❵❢◗❏❞✉❵❢❙③❩✜❩✜◗❏♦✚❘▲❬

P (Ω) = −

∫

Ω

2µe(u(Ω)) · e(uc) + λdiv u(Ω) div uc dx,

❞✉❖✼◗■❵✜◗
uc

❙❭❬P❘❫✐❥◗■sr❩✜❱▲❵➆⑦❝◗■❣❛♣✬❙❯♦
H1(R2)

❬✜①❝s❼❖✭❩❢❖❝❘✗❩
uc = 0

❱▲♦
ΓD

❘❨♦❝♣
uc = n

❱❥♦
Γc
❻ ▼P❖✼◗⑤❚❽❘✗↕✈❙❛❚✕❙❛✇■❘❨❩✜❙❛❱▲♦❜❱❨❳

P (Ω)
①❝❬✜①❝❘❨❣❛❣❯❦❣❛◗■❘❥♣✼❬➣❩✜❱➧♣✈❙❭❬❢sr❱▲♦❝♦✼◗■sr❩✜◗■♣➜❬✙❩✜❵❢①❝s↔❩❢①✼❵❢◗■❬ ❻ → ♦➜❱▲❵❼♣✈◗❏❵➃❩❢❱➧❘✿✐▲❱▲❙❭♣✱❩❢❖✼❙❭❬❪✼❵❢❱▲②❝❣❯◗■❚✫❧✈❞⑤◗➃❙❯♦❴❬✦❩❢◗■❘▲♣✡❚✆❙❯♦❝❙❯❚✆❙❛✇❏◗➃❩✜❖❝◗➃❳⑥①✼♦❝s↔❩❢❙❯❱❥♦❝❘❨❣

G(Ω) = −P (Ω)/c(Ω) + ℓ|Ω|.

ö ❱▲❵✭❘✠④▲❙❛✐▲◗■♦➟❪❁❱❥❬✜❙③❩❢❙❯✐❥◗✚❪✼❵✜◗❊❬✜❬✜①✼❵❢◗
P (Ω)

❱▲❳❅❩❢❖✼◗✱④▲❵❢❙❯❪➛❱▲♦➟❩✜❖❝◗❪✼❙❛◗■s❏◗▲❧➣❙③❩✠❙❛❬✠❘▲♣✼✐✿❘▲♦t❩❢❘❨④❥◗❏❱❥①❝❬✫❩✜❱➤❚✕❙❛♦✼❙❛❚✆❙❯✇■◗◆❩✜❖❝◗➟sr❱❥❚✆❪✼❣❯❙❭❘❨♦❴sr◗
c(Ω)

❙❛♦✆❱▲❵❼♣✈◗❏❵❍❩✜❱❾❚✆❙❛♦✼❙❛❚✕❙❛✇❏◗P❩❢❖✼◗⑤❳⑥①✼♦❝sr❩✜❙❛❱▲♦❝❘▲❣
G(Ω)

❻ ▼P❖❷①❝❬■❧✗❞➆◗❖✼❱❥❪❴◗⑤❩❢❖❝❘✗❩✞♣✈❙❭❬❢sr❱▲♦❝♦✼◗■sr❩✜◗■♣✆❬✙❩✜❵❢①❝s↔❩❢①✼❵❢◗■❬P➄⑨❳⑥❱❥❵❃❞✉❖✼❙❭s❼❖❫❩❢❖✼◗♥sr❱❥❚✕❪❝❣❯❙❯❤❘▲♦❝sr◗❾❙❭❬✉❩✦❦❷❪✼❙❭s❏❘▲❣❯❣❛❦✬✐❥◗❏❵❢❦✭❖✼❙❛④▲❖❴➅✉❘▲❵✜◗❾♦❝❱❨❩❅❵❢◗■❘❥❬✙❱❥♦❝❘❨②✼❣❛◗➣❚✕❙❛♦✼❙❛❚✆❙❯✇❏❤◗■❵❢❬➆❱❨❳
G
❻ ú➧❱▲❵❢◗❏❱✗✐▲◗■❵■❧▲❞➆◗➃❘▲♣✼♣✡❘❫❪❁◗❏♦❴❘❨❣❛❙❯✇❊❘✗❩✜❙❛❱▲♦✡❱❨❳➺❩❢❖✼◗➣✐▲❱▲❣❛①✼❚✆◗❙❛♦➧❩❢❖✼◗❜❱❥②✈➩✦◗■sr❩✜❙❛✐▲◗❾❳⑥①❝♦❝s↔❩❢❙❯❱❥♦

G
➄
ℓ
❙❛❬➣❘✬❪❁❱❥❬✜❙❯❩✜❙❛✐▲◗❫❵❢◗■❘▲❣❭➅ ❻ ➲❅◗❏♦❝s❏◗❩❢❖✼◗✭❚✆❙❯♦❝❙❯❚✆❙❛✇❏◗❏❵❼❬❾❱▲❳

G
❘❨❵❢◗✆♦✼❱❨❩✯◗❏↕✼sr◗■❬❢❬✜❙❯✐❥◗❏❣❛❦✱❳✺❘✗❩ ❻ ▼P❖✼◗✭❬✜❖❝❘❨❪❁◗♣✈◗■❵✜❙❛✐✗❘✗❩❢❙❯✐❥◗✯❱❨❳

P
➄✺❘▲♦❝♣✚❩❢❖t①❴❬❅❱▲❳

G
➅❅❙❛❬➈◗■❘❥❬✙❦✬❩✜❱✫sr❱▲❚✆❪✼①✼❩✜◗✡➄✸❬✙◗■◗◗ ❻ ④ ❻ ➄✺ë♥❣❛❣❭❘❨❙❛❵✜◗➃◗r❩❅❘▲❣ ❻ ➯▲➭▲➭▲ð▲➅✙➅

< P ′(Ω), θ >=

∫

Γopt

(

2µe(p(Ω) − uc) · e(u(Ω))

+ λdiv(p(Ω) − uc) div u(Ω)

)

(θ · n)dx,

❞✉❖✼◗■❵✜◗
θ = 0

❱▲♦
∂Ω \Γopt

❻ ▼P❖✼◗➈◗r↕✈❪✼❵❢◗■❬❢❬✙❙❛❱▲♦✆❱❨❳
P ′(Ω)

❵❢◗❏❣❛❙❯◗❊❬❱❥♦✭❘❨♦❽❘▲♣✿➩✦❱❥❙❯♦t❩➆❬✙❩❢❘❨❩✜◗
p(Ω) ∈ W (Ω)

♣✼◗r⑦❝♦✼◗❊♣❽❘▲❬❃❩✜❖✼◗❅❬✜❱▲❣❛①✈❩❢❙❯❱❥♦❱▲❳
∫

Ω

(2µe(p(Ω)) · e(q) + λdiv p(Ω) div q) dx =

∫

Ω

(2µe(uc) · e(q) + λdiv uc div q) dx

❳⑥❱❥❵✉◗❏✐▲◗■❵✜❦
q ∈ W (Ω).
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N = 2

❬✜❪❝❘❥sr◗❾♣✈❙❛❚✕◗■♦❝❬✜❙❯❱❥♦❝❬P❞✉❙③❩❢❖ ⑩t❶✼❸❷❸❥⑩✼❸❊❹❁❺❷❺❁❻ → ♦✫❩✜❖❝❙❛❬♥❬✜◗■sr❤❩❢❙❯❱❥♦➺❧✗❞➆◗✉❪❝❵✜◗❊❬✙◗■♦❥❩❍❩✜❖❝◗✉❚✆❘▲❙❯♦✕❪❝❘▲❵✙❩❼❬✶❱❨❳➥❘ ⑩❷❶✼❸❷❸❥⑩✈❸✿❹❁❺❷❺ ❬❢sr❵❢❙❯❪✼❩❍❳⑥❱❥❵❩❢❖✼◗✉sr❱▲❚✆❪✼❣❛❙❭❘❨♦❝s❏◗✞❚✆❙❯♦❝❙❯❚✆❙❛✇■❘✗❩❢❙❯❱❥♦❫◗❏↕✈❘▲❚✆❪✼❣❯◗➃➄✺❬✜◗❏◗P❬✜◗■s↔❩❢❙❯❱❥♦✕➯ ❻ ➳ ❻ í✿➅ ❻ö ❱▲❵✯❩❢❖✼◗✬❬❢❘❨➇❥◗❽❱❨❳♥❬✙❙❛❚✆❪✼❣❛❙❛s❏❙③❩✦❦❥❧✌❩❢❖✼◗✡♣✈◗❏❩❢❘▲❙❯❣❭❬❾❪✼❵❢◗■❬✜◗❏♦t❩✜◗❊♣➜❙❯♦➟❬✙◗❊s↔❤❩❢❙❯❱❥♦➀➯ ❻ ð✚❖❝❘✿✐❥◗✆♦✼❱❨❩✯②❁◗❏◗■♦✠❙❛♦❝s❏❣❯①❝♣✼◗■♣ ❻ → ♦➜❘▲♦❷❦✓s❏❘❥❬✙◗❥❧➥❱▲①✼❵❫s❏❱▲❚✕❤❪✼❣❛◗r❩❢◗ ⑩t❶✼❸❷❸❥⑩✼❸❊❹❁❺❷❺ ❬❢sr❵❢❙❛❪✈❩❢❬✆❘❨❵❢◗✡❘✿✐✗❘▲❙❯❣❭❘❨②✼❣❛◗✬❱❥♦➁❩❢❖✼◗✚❞➆◗■②➁❪❝❘▲④▲◗ü✈ý❷ýtþ⑤ÿ✁�✂�☎✄✂✄✆✄✞✝✠✟❏❹☛✡▲þ✞✝➦þ✌☞✂✍✏✎❷ý✼❸✌✟❊ü✂✑✓✒✕✔✏✖❝❸ ✝✙✘▲❶✌�✌✚✕☞▲þ❷ý✛☞✗þ✌☞❴❻ ú✱❱❥❵✜◗❙❛♦✈❳⑥❱▲❵❢❚❽❘✗❩❢❙❯❱❥♦❝❬➣❱▲♦✴❩✜❖✼◗❽❬❢sr❵❢❙❯❪✈❩❾❬✜❦t♦t❩❼❘✗↕➧❱❨❳ ⑩❷❶✼❸❷❸▲⑩✼❸✿❹❁❺❷❺ s❏❘▲♦✴②❁◗❳⑥❱❥①✼♦❝♣✫❙❯♦➀➄✸➲♥◗■s❼❖t❩✉◗r❩❅❘▲❣ ❻ ➯❨➭▲➭t➳✗➅ ❻
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✧✗✝❃❂r❹✌✖✣❂✂✭✎✚✳✶❋✭ ✖✂✢✳✯✳❂☞✚✩✶★✭✖✚ ✢✗✯✗❺✳✚✆✎★✭✙✖✓✧✓✯✩❂❆✚✆✎❋✭✤✚✛✧✓✯❺★✭✸✭✿✚✩✶❋✭ ✖✓✧✓✯✗❺✸✚✆✎❋✭✙✖✂✢✳✯✩✯✳❂✂✭✿✚✩✶✰✭✢✚✦✧✓✯✗❺✩✚✆✎✰✭✢✚ ✢☞✯✸✯✩✯✏�✗✧✗✝❄✯❺✛✍✆✡❊❹✓✘✛✚ ✡✓❂ ✭✎✚✩✶❋✭ ✖ ✢✳✯✗❺✩✚ ✎❋✭✙✖✓✧✛✯✸✯✳❂ ✭✎✚✳✶❋✭✤✚ ✢✳✯❊❺✸✚ ✎❋✭✤✚✛✧☎✯✳✯
✯
✱✂✒ ✑❷ý ✢✬✚★✭ ✏ ü ✲✙✑❝❸✏✖❨❹✰✡☎✑✂✑❀✯ ✭❉✫✤✢✗❂✠✚ ✢❏❺✩✫✦✧✛❂✥✚✦✧☎✯❺ ☞✏✑❋✭✎✚☛✒✿❶✰✒ ✟✿ü ✍t❸❥ý❋✲✙✖ ✢✬✜✩✷★✲ ✖✛✧✩✜✸✷☎✯✤✔
▼P❖✼◗❾❘❥♣✿➩✦❱▲❙❛♦t❩⑤❪✼❵❢❱▲②❝❣❯◗■❚ø➄⑥❙❯❳❍❘❨♦❷❦✼➅➆❘❨♦❝♣✬❩✜❖✼◗➣◗r↕❷❩❢◗❏♦❝❬✜❙❯❱❥♦✬❪✼❵❢❱▲②❝❣❯◗■❚➄♠➯▲➅✆➄⑥❞✉❖❝❙❛s❼❖➜④▲❙❛✐▲◗❊❬➣❩✜❖✼◗✭♣✼◗■❬❢sr◗❏♦t❩✯♣✈❙❛❵✜◗❊s↔❩❢❙❯❱❥♦

d = (d1, d2)
➅❾❘▲❵✜◗♣✈◗❏⑦❝♦✼◗❊♣✚❙❯♦✱❘❽❬✜❙❯❚✆❙❛❣❛❘▲❵♥❞⑤❘✿❦ ❻ ▼P❖✼◗❾❳⑥❱❥❣❯❣❛❱✗❞✉❙❯♦❝④✆s❏❱✈♣✈◗❾❣❯❙❛♦✼◗❊❬❅♣✈◗❏⑦❝♦✼◗❩❢❖✼◗❾◗r↕❷❩✜◗■♦❝❬✜❙❯❱❥♦✡❪✼❵❢❱▲②❝❣❯◗■❚ ❻

�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✆�✂� �✂�✆�✆�✂�✆�✂� �✂�✆�✆�✂�✆�✂� �✂�✂� �✂�✆�
�✂�✜✝✸✶tþ✈❶✼❸✛✒✸✒ ✒☎☞✏✑ ☞✆✘☛ýtü❝❸✥✒✿ü✌✡▲þ✼❸✙✫❷❶✛✡✩✚☛✒✗❸✏✑✈ý �✂�
�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✆�✂� �✂�✆�✆�✂�✆�✂� �✂�✆�✆�✂�✆�✂� �✂�✂� �✂�✆�❹✰✡✌✟✗❶ ☞✙✫❷❶✛✡✩✚☛✒✗❸✏✑✈ý✼❸✳✶❥þ✕✭✞✯

✱☞✧✗✝❃❂❏❹✛✖✣❂✂✭✎✚✩✶★✭ ✖✂✢✳✯✎✦☞✧t❺✩✚✆✎✰✭ ✖✛✧✓✯✎✦☞✧❺★✭✸✭✎✚✩✶★✭ ✖✓✧☎✯✗❺✩✚✆✎❋✭ ✖✂✢✗✯✸✯✂✦✗✧✛✯✏�✳✧ ✝❄✯
✱✏✍✆✡✿❹✓✘✦✚ ✡✓❂✂✭✎✚✳✶❋✭ ✖✂✢✳✯✿❺✸✚ ✎❋✭ ✖✓✧✓✯✩✯✎✦☞✧

�✂�t❸✳✶tý✼❸✏✑✣✒ ✒✜☞✏✑ ✘☛✒✗❸ ✍✳✚
✑ ✏ ü✘✓ ✚✤✢✣✲✿✚✦✧✎✗❋✔
�✂�▲ý✼❸✛✒✗ý ✘ ✖✂✑✰✟✿ý✰✒☎☞✏✑✣✒ ✘ ☞❥❶☛ýtü❝❸☛❸✳✶❷ý✈❸✏✑✣✒ ✒☎☞☎✑ ✘☛✒❨❸ ✍✗✚
✑ ✏ ü✘✓➦ýtü✼❸❥ý✛✡✣✢✤✲✦ýtü❝❸❥ý✛✡✩✧✎✗❋✔
�✂�✂✍ ✡✗✫❷❶✛✡✏✑✦✫✈❸✠❹✌✖ ✍❨ý✰✒❊þ ✍✌✒✗❸❥❶❶✼❸✂✡ ✍ ✍✆✡✗✫❷❶✛✡✏✑✦✫✈❸★✔
�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✆�✂� �✂�✆�✆�✂�
�✂�✜✝✸✶❷ý✼❸✏✑❀✒ ✒☎☞✏✑➟þ✈❶✛☞✗✘ ✍❥❸✿❹ �✂�
�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✆�✂� �✂�✆�✆�✂�
�✂�✺❇ ✢✙✒✂✟✏✡ ✍✆✡▲❶➠þ✈❶✛☞✩✚ ✖☛✟✗ý✺✘❝❸❥ý✆✄✼❸❷❸✏✑
�✂�✜✚✼❸✌✟✗ý✛☞▲❶✣✱✠✚✛✡ ✍✜✖❝❸✩✚ ✘ ✖✂✑✰✟✗ý☛✒☎☞✏✑✣✒

❹✰✡✌✟✗❶ ☞➟þ✈❶✛☞✩✚☎✒✆✟✏✡ ✍●✭✜ý✤✢✤✲✙ý✛✧★✲➏þ ✢✤✲✦þ✦✧☎✯
✚✩✶★✭✜ý ✢✳✯✩❂ ✚✩✶❋✭✙þ✂✢✗✯✗❺✸✚ ✎★✭✙ý ✢✳✯✗❂☞✚ ✎★✭✦þ✂✢✳✯❺✩✚✩✶❋✭✜ý✛✧✓✯✩❂☞✚✩✶❋✭✦þ✓✧☎✯✗❺✸✚✏✎❋✭✙ý✦✧✓✯✩❂☞✚✏✎❋✭✦þ✛✧✓✯✗❺tý✣✢✗❂❊þ ✢❊❺❥ý✛✧✦❂✿þ✛✧

�✂�þ✈❶✛☞✗✘✌✍t❸✿❹➨❸✳✶tý✼❸✏✑✣✒ ✒✜☞✏✑✕✭✣✓ ✚✣✢✤✲✿✚✦✧✎✗✰✲✔✓♠ý❥ü✼❸❥ý✛✡☎✢✤✲✦ý❥ü❝❸▲ý✛✡✳✧✎✗☎✯ ✜
✒ ✑✈ý✛✧✩✚✰✭ ✏ ü✤✯ ✭✦þ✈❶✛☞✩✚☎✒ ✟✏✡✂✍ ✭✿✚✤✢✤✲ ✚✦✧✰✲✦ý❥ü❝❸❥ý✂✡✣✢✣✲✦ýtü✼❸❥ý✂✡✸✧✓✯✩✯❺ ✒ ✑✈ý ✢✬✚✰✭ ✏ ü ✲✁✘❥❶✼❸❷❸☎✯ ✭✵✭✜ý❥ü❝❸❥ý✛✡✣✢☞❂✥✧ ✝ ✶✈❺❥ýtü❝❸▲ý ✡✸✧✛❂✥✧✗✝ ✎❀✯

❂✂✭✿✫t❶✛✡✩✚☛✒❨❸☎✑✈ý✼❸✳✶tþ➛❺ ✍✆✡✳✫❷❶✛✡☎✑✦✫✼❸☎✯✸✯❺ ☞✏✑✕✭✎✚ ✒✿❶✰✒✆✟✿ü✌✍t❸❥ý✕✲✙✑✈❸✏✖❨❹☛✡☎✑✂✑ ✲ ✚✤✢✞✜✸✷✰✲✿✚✦✧✗✜✦✷✓✯ ✔
✢✰✯✠✟✓✯✞✝
✱✳✲ ✪

➎
✭
➌r➓
✫
➓
✮ ✤
➌r➓➔➎❁➋

✡
➎❁➎

✭

▼P❖✼◗✉❱❥❪✈❩✜❙❛❚✆❙❯✇❊❘✗❩❢❙❯❱❥♦❽❣❯❱❷❱▲❪❽s❏❱▲♦❝❬✜❙❛❬✙❩❢❬❃❙❯♦✆❩❢❖✼❵✜◗■◗✉❚❽❘❨❙❛♦✭❬✦❩❢◗❏❪❝❬■❿❨❵❢◗■❬✜❱❨❤❣❛①✈❩✜❙❛❱▲♦✚❱▲❳✌❩✜❖❝◗✯❬✦❩❼❘✗❩✜◗❾◗❊ét①❝❘✗❩❢❙❯❱❥♦➺❧✼sr❱❥❚✕❪❝①✈❩❢❘❨❩✜❙❛❱▲♦✫❱❨❳❍❩✜❖✼◗✯♣✈◗❊❬✜s❏◗❏♦t❩♣✈❙❛❵❢◗■s↔❩❢❙❯❱❥♦✚❙❯♦✫❩✜◗■❵✜❚❽❬✉❱▲❳✶❩✜❖✼◗❫❬✜❖❝❘▲❪❴◗✯♣✈◗■❵✜❙❛✐✗❘✗❩❢❙❯✐❥◗▲❧✼❬✜❖❝❘❨❪❁◗✯①✼❪❈♣✼❘✗❩✜❤❙❛♦✼④ ❻
✒ ✑✈ý ✑✓✒✿ý✈❸❥❶✦✜✤✢❆✷✩✷★✔ �✆�✆✧✆✖▲❹✓✘✼❸❥❶ ☞✆✘ ✒✿ý✼❸❥❶ ✡❥ý✰✒☎☞✏✑❀✒❶✼❸✂✡ ✍✍✒✗ý✈❸▲þ✛✜✦✷✗✝ ✢✤✔ �✆�✔★ ✑✓✒✿ý☛✒☎✡ ✍❅✒✗ý✈❸▲þ
�✂�✆✩✛✡▲❶✸✫✼❸❥ý✜✚ ☞ ✍☎✖▲❹❈❸❶✼❸✂✡ ✍✞✚✛☞✂✍☎✖▲❹❈❸✸✷✳✜✫✪☞✟✗✝✳✔
�✂�✆✬✼❸ ✘t❶✼❸✓✒✿ü✰✒ ✑✦✫❅✒✗ý✼❸▲þ ☞✆✘☛ýtü❝❸☛✍ ✡✳✫t❶✛✡✏✑✦✫✼❸✠❹✌✖ ✍▲ý✰✒■þ ✍✌✒❨❸❥❶❶✼❸✂✡ ✍ ✍✆✡✗✫❷❶✛✡✏✑✦✫✈❸✓✒✗ý✼❸▲þ✦✜✦✪★✔
�✂�✔★ ✑✰✒✿ý✰✒☎✡ ✍✛✒✥✭ ✡❥ý✰✒✜☞☎✑ ☞✆✘✎ýtü❝❸✮✍ ✡✳✫❷❶✛✡☎✑✦✫✼❸➜❹✌✖✌✍▲ý✰✒❊þ ✍✛✒❨❸❥❶❶✼❸✂✡ ✍✞✚✛☞✂✍☎✖▲❹❈❸★✲➏þ❝❸❥❶✰✒r❹❁❸❥ý✼❸▲❶❋✔❸ ✍✆✡✓✒✿ý✰✒✆✟ ✒✿ý✆✎✕✔
✚✛☞ ✍☎✖❨❹❈❸✩✜☛✒ ✑❷ý ✢✬✚★✭ ✏ ü✣✯ ✭✿✶✓❂✥✧ ✝ ✶❷❺✆✎❀❂✯✧ ✝ ✎❀✯☎�✩✧★✔þ❝❸❥❶✰✒↔❹❈❸❥ý✼❸❥❶✸✜☛✒ ✑✈ý ✢✞✚✰✭ ✏ ü❋✲✁✘❥❶✈❸t❸☎✯ ✭✞✢ ✝❃✯ ✔
✍✆✡✳✫❷❶ ✡✏✑✦✫✼❸✩✜

✒ ✑✈ý ✢✞✚★✭ ✏ ü ✲ ✘t❶✼❸❷❸☎✯✤✭❉✫❷❶✛✡✗✚☛✒✗❸☎✑❷ý✼❸✳✶▲þ✤✯☎�✗þ❝❸▲❶✰✒❼❹❈❸▲ý✈❸❥❶❋✔
✒ ✑✈ý ✒✿ý✼❸▲❶✕✔
�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✂�✂�✂�✆�✆�✂�✂� �✂�✆�✆�✆�✂�✂� �✂�✆�✆�✆�✂�
�✂� ✰❨þ✈ý✰✒↔❹ ✒✥✭ ✡❥ý☛✒☎☞✏✑✞✍ ☞✂☞▲þ �✂�
�✂�✂�✂�✆�✂�✂�✂�✂�✆�✂�✂�✂�✂�✆�✆�✂�✂� �✂�✆�✆�✆�✂�✂� �✂�✆�✆�✆�✂�
✘ ☞❥❶ ✭ ✒✿ý✈❸❥❶✦✜✦✷★✔ ✒✿ý✼❸❥❶✔✱ ✑✓✒✿ý✈❸❥❶✕✔ ✒✿ý✈❸❥❶✦✜☛✒✿ý✈❸❥❶✈❺✣✢✗✯✗✴
�✂� ✏ ☞✂✍✆✚✰✒ ✑✦✫➛ýtü❝❸✥✒✗ý✛✡❥ý✈❸✎❸✆✔ ✖✌✡❥ý☛✒☎☞✏✑❸ ✍✆✡✓✒✿ý✰✒✆✟ ✒✿ý✆✎✕✔
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✱☞✷✗✝✖✟✓❂✂✒ ✑✈ý ✢✬✚✰✭ ✏ ü ✲✁✘▲❶✼❸t❸✓✯✤✭✿✫❷❶✂✡✩✚ ✒✗❸☎✑✈ý✼❸☞✶tþ✣✯☎�❨þ✼❸❥❶ ✒r❹❁❸▲ý✼❸▲❶❺✛✍✆✡✳✫❷❶ ✡✏✑✦✫✼❸✓✒✿ý✼❸▲þ✣❂✂✭✤✚✛☞✂✍✜✖❨❹❈❸☎✱✳✚✛☞✂✍✜✖❨❹❈❸✸✷✛✯✏�✴✚ ☞ ✍✜✖▲❹❴❸✸✷✰✔
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➢ ♦✼◗➆❣❯❙❛❚✆❙③❩❼❘✗❩❢❙❯❱❥♦✯❱❨❳✈❩❢❖✼◗➆❪❝❵✜◗■✐t❙❛❱▲①❴❬➺❚✆◗r❩❢❖✼❱✈♣❾❙❛❬❍❙❯❩❢❬õ❙❯♦❴s❏❘❨❪❴❘▲sr❙❯❩✦❦➈❩✜❱s❼❖❝❘▲♦✼④▲◗♥❩✜❖✼◗❅❩✜❱▲❪❁❱▲❣❛❱▲④❥❦❜❱▲❳➥❩✜❖✼◗➣❬✦❩❢❵✜①❴s↔❩✜①❝❵✜◗ ❻ ú✱❱❥❵✜◗■❱✗✐▲◗■❵■❧✗◗■✐▲◗❏♦✆❳⑥❱❥❵❘❜④▲❙❛✐▲◗■♦✭❩✜❱❥❪❴❱❥❣❯❱❥④▲❦❥❧❥❩❢❖✼◗➣⑦❝♦❝❘▲❣➥❵✜◗❊❬✙①✼❣❯❩♥♣✈◗❏❪❁◗❏♦❴♣✼❬P❖✼◗■❘✿✐❷❙❛❣❯❦❽❱❥♦✬❩❢❖✼◗❙❛♦✼❙❯❩✜❙❭❘❨❣❃❬✜❖❝❘❨❪❁◗ ❻ → ♦➜❪❝❘▲❵✙❩❢❙❛s❏①✼❣❛❘▲❵■❧❁❙❯❳⑤❖✼❱❥❣❯◗❊❬❾❘❨❵❢◗❫❩❢❱❷❱✚s❏❣❯❱t❬✙◗✕❙❛♦✴❩❢❖✼◗❙❛♦✼❙❯❩✜❙❭❘❨❣✞❬✜❖❝❘❨❪❁◗▲❧❈❩❢❖✼◗❏❦✓❩✜◗■♦❝♣✴❩✜❱✚❚✆◗❏❵❢④▲◗▲❧➥❘▲♦❝♣✴❩✜❖✼◗❽❪✼❵❢❱✈sr◗❊♣✈①✼❵❢◗❜❙❭❬❚✆❱▲❵❢◗❅❱❥❵➆❣❛◗■❬❢❬⑤❬✦❩❢①❝s❼➇▲◗❊♣➥❧✈❘▲❬✞❩✜❖✼◗➈❩✜❖✼❙❛♦✬❣❭❘✿❦▲◗■❵➆②❁◗r❩✦❞⑤◗❏◗■♦❽❩✜❖❝◗➣❖❝❱▲❣❛◗■❬s■❘❨♦✯♦✼❱▲❩õ②❁◗➆❵❢◗❏❚✆❱✗✐❥◗■♣ ❻✗➢ ✐▲◗❏❵❼❘❨❣❛❣❨❩❢❖✼◗✞❪❝❵✜◗■✐t❙❛❱▲①❴❬✌❚✆◗r❩❢❖✼❱✈♣❾①❝❬✜①❝❘❨❣❛❣❛❦❦❷❙❛◗❏❣❭♣✼❬❅❣❛❱✈s❏❘▲❣✌❚✆❙❯♦❝❙❯❚❽❘✡❞✉❖✼❙❛s❼❖✓❚✆❘✿❦✫②❁◗❫❳✺❘▲❵❅❳⑥❵❢❱▲❚ ④▲❣❛❱▲②❝❘▲❣õ❱❥♦✼◗■❬ ❻▼P❖✼◗❫❖✼❱▲❚✆❱▲④❥◗❏♦✼❙❛✇■❘❨❩✜❙❛❱▲♦✫❚✆◗r❩✜❖❝❱❷♣✚❙❭❬❅❘▲❙❯❚✆◗❊♣✫❘❨❩❅❱▲❪✼❩✜❙❛❚✕❙❛✇❏❙❛♦✼④❽❩❢❖✼◗❩❢❱▲❪❁❱▲❣❛❱▲④▲❦✚❘❨♦❴♣✚④▲◗r❩✜❩✜❙❛♦✼④✬④❥❣❯❱❥②❝❘❨❣õ❚✆❙❯♦✼❙❛❚❽❘ ❻ → ❩➣❵❢◗❏❣❛❙❛◗■❬♥❱❥♦✱❩✜❖❝◗❫❙❛♦✈❤❩❢❵✜❱✈♣✈①❝sr❩✜❙❛❱▲♦◆❱▲❳♥sr❱▲❚✆❪❁❱❥❬✜❙③❩❢◗✬❚❽❘✗❩❢◗❏❵❢❙❛❘▲❣❛❬✯❞✉❖✼❙❛s❼❖➟s❏❘❨♦➀②❁◗✚❬✙❖✼❱✗❞✉♦❩❢❱❾❦t❙❛◗❏❣❭♣✆❱▲❪✼❩✜❙❛❚✆❘▲❣❴❬✜❖❝❘❨❪❁◗■❬❃❙❯♦✭❘➃❵❢◗❏❣❭❘✗↕✈◗■♣❜❱▲❵✞④▲◗❏♦❝◗❏❵❼❘❨❣❛❙❯✇■◗■♣✕❬✙◗■♦❝❬✙◗ ❻➞ ①✼❚✆◗❏❵❢❙❛s■❘❨❣❛❣❯❦❥❧■❘♥s❏❱▲❚✆❪❴❱t❬✙❙❯❩✜◗⑧❱❥❪✈❩✜❙❛❚❽❘❨❣❷❬✙❖❴❘❨❪❁◗❃❙❛❬➺⑦❝❵❼❬✦❩õs❏❱▲❚✆❪✼①✈❩❢◗■♣❘▲♦❝♣✱❩❢❖✼◗❏♦✠❪✼❵❢❱❨➩✦◗■sr❩✜◗❊♣➧❱▲♦✓❩✜❖✼◗❽❬✜◗r❩❾❱❨❳✁�✦❵❢◗■❘▲❣✄✂❜❬✜❖❝❘❨❪❁◗■❬➣②❷❦✓❘✡❪❴◗❏❤♦❝❘▲❣❯❙❛✇■❘❨❩✜❙❛❱▲♦➜❪✼❵❢❱✈sr◗■♣✼①✼❵✜◗✆❞✉❖✼❙❭s❼❖➜❵✜◗■❚✆❱✗✐▲◗■❬➣❩❢❖✼◗☎�✙④▲❵❢◗❏❦✆✂✕❘▲❵✜◗❊❘▲❬➃❱❨❳❙❛♦t❩✜◗❏❵❢❚✆◗■♣✈❙❭❘✗❩❢◗❾♣✈◗❏♦❝❬✜❙❯❩✜❙❛◗■❬ ❻ → ♦✫❩✜❖✼◗❾❳⑥❱❥❣❯❣❛❱✗❞✉❙❛♦✼④❝❧❷❞⑤◗➃❳⑥❱❷s❏①❝❬✉❱❥♦✡❩❢❖✼◗❚✆❙❛♦✼❙❯❚✆❙❛✇■❘❨❩✜❙❛❱▲♦➜❱❨❳✉❘✫❞➆◗■❙❯④❥❖❥❩❢◗■♣➜❬✜①✼❚ ❱▲❳➆❩❢❖✼◗✭sr❱❥❚✕❪❝❣❯❙❭❘❨♦❝s❏◗❽❘❨♦❝♣❩❢❖✼◗➆❞⑤◗❏❙❛④▲❖t❩✌❱▲❳✼❩✜❖❝◗⑤❬✙❩✜❵❢①❝s↔❩❢①✼❵❢◗ ❻✿ö ①✼❵✜❩✜❖✼◗■❵✜❚✆❱❥❵✜◗❥❧❏❞⑤◗➆❘▲❬❢❬✜①✼❚✆◗❃❩✜❖❴❘✗❩❩❢❖✼◗⑤❬✙❩✜❵❢①❝sr❩✜①✼❵❢◗➆❙❭❬❍❚❽❘▲♣✈◗⑤❱❨❳❴❘❅❣❯❙❛♦✼◗❊❘❨❵✶◗❏❣❭❘▲❬✙❩✜❙❭s❃❙❭❬✙❱▲❩✜❵❢❱▲❪✼❙❭s❃❚❽❘❨❩✜◗❏❵❢❙❭❘❨❣❘▲♦❝♣✬❙❛♦❝s❏❣❯①❝♣✼◗■♣✫❙❯♦✱❘❜⑦✼↕✈◗■♣✫❞⑤❱▲❵❢➇❷❙❯♦✼④✆♣✈❱❥❚✆❘▲❙❯♦
Ω
❻

✝✰✯❭➉
✄ ✪
➌❼➌↔➓❯➋

✩
➎
✄
➌
✲ ✪

➓❯➋✼➓ ➌r➓
✤☛✡ ✭

➍➏➎
✟ ✡ ✪✂✫

✵ ◗r❩
Ω
②❴◗✫❘✫⑦✼↕✈◗■♣➜②❁❱▲①✼♦❝♣✼◗■♣➀❞⑤❱▲❵❢➇❷❙❯♦✼④✱♣✈❱❥❚❽❘❨❙❛♦✠❙❛♦

R
N ❻ ✵ ◗r❩

Γ0
❧
ΓN

❘▲♦❝♣
ΓD

②❴◗✯❘✕❪❝❘▲❵✙❩❢❙③❩❢❙❯❱❥♦✡❱▲❳õ❩❢❖✼◗❾②❴❱❥①✼♦❝♣✼❘▲❵✜❦✬❱❨❳
Ω
❻ ë➈❬❪✼❵❢◗❏✐❷❙❛❱▲①❝❬✜❣❛❦▲❧

u(ω)
♣✈◗❏♦❝❱❨❩✜◗❊❬➣❩✜❖✼◗✡♣✈❙❛❬✜❪✼❣❭❘▲s❏◗❏❚✆◗❏♦t❩❾❱❨❳⑤❩✜❖✼◗✡❬✦❩❢❵✜①❝sr❤❩❢①✼❵✜◗

ω ⊂ Ω
❞✉❖✼❙❭s❼❖✚❙❛❬♥❘❥❬✜❬✜①✼❚✆◗■♣✡❩❢❱❽②❴◗✯s❏❣❛❘▲❚✕❪❁◗■♣✚❱❥♦

ΓD

❘❨♦❝♣❬✜①✼②✼❚✆❙❯❩✙❩✜◗❊♣✡❩✜❱✭❬✜①✼❵✙❳✺❘❥sr◗➣❣❯❱t❘▲♣✼❬
g
❱❥♦

ΓN







div σ = 0
❙❛♦

ω,
❞✉❙❯❩✜❖

σ = Ae(u),
σn = g

❱❥♦
ΓN ,

❘▲♦❝♣
σn = 0

❱❥♦
∂ω \ (ΓN ∪ ΓD)

u = 0
❱❥♦

ΓD,

❞✉❖✼◗■❵✜◗
e(u) = (∇u+∇uT )/2

❘❨♦❝♣
A
❙❭❬✞♣✼◗r⑦❝♦✼◗❊♣✆②❷❦✫➄✺ðt➅ ❻ ì ◗s❏❱▲♦❝❬✜❙❛♣✼◗❏❵❃❩❢❖✼◗♥❳⑥❱❥❣❯❣❛❱✗❞✉❙❛♦✼④❫sr❱❥❚✆❪✼❣❯❙❭❘❨♦❴sr◗♥❚✆❙❛♦✼❙❯❚✆❙❛✇■❘❨❩✜❙❛❱▲♦✭❪✼❵❢❱▲②❝❣❯◗■❚

min
ω⊂Ω

∫

ΓN

g · u(ω) dx + ℓ|ω|,
➄ ☎ ➅

❞✉❖✼◗■❵✜◗
ℓ > 0

❙❛❬⑤❘ ✵ ❘▲④▲❵❼❘❨♦✼④❥◗✉❚❫①✼❣❯❩✜❙❛❪✼❣❛❙❯◗■❵❃❳⑥❱❥❵❃❩✜❖❝◗❅✐▲❱❥❣❯①❝❚✕◗➈sr❱▲♦✼❤❬✙❩✜❵❼❘❨❙❛♦t❩ ❻ → ❩✶s❏❘❨♦➃②❁◗✞❪✼❵❢❱✗✐▲◗❊♣♥❩❢❖❝❘✗❩✌❩✜❖✼❙❭❬✌❪❝❵✜❱❥②✼❣❯◗■❚➡①❝❬✜①❝❘▲❣❯❣❛❦➣❘❥♣✈❚✆❙③❩❼❬♦✼❱✫❚✆❙❯♦❝❙❯❚✆❙❛✇❏◗❏❵ ❻ ▼P❖✼◗✆♦❷①✼❚❜②❴◗■❵➣❱▲❳➆❖✼❱❥❣❯◗❊❬➃❱❨❳P❘✬❚✆❙❛♦✼❙❯❚✆❙❛✇❏❙❛♦✼④✱❬✙◗❏❤ét①✼◗■♦❝sr◗❊❬✞❱▲❳➣➄ ☎ ➅❃❙❛♦❝s❏❵✜◗❊❘▲❬✜◗■❬⑧❩❢❱❜❙❛♦✈⑦❝♦❝❙③❩✦❦❥❧❷❘▲♦❝♣✆❩❢❖t①❴❬❏❧❷❙❯❩P♣✈❱❷◗❊❬➆♦❝❱❨❩s❏❱▲♦❷✐▲◗■❵✜④❥◗✌❩❢❱❅❘♥sr❣❭❘▲❬❢❬✜❙❛s■❘❨❣❨❬✜❖❝❘❨❪❁◗▲❧■②✼①✈❩✌❩❢❱❅❘✉sr❱❥❚✆❪❴❱t❬✙❙❯❩✜◗❃❱❥♦✼◗ ❻ ▼P❖✼◗❪✼❵❢❙❛♦❝sr❙❛❪✼❣❛◗❅❱❨❳✌❩✜❖✼◗➣❖✼❱▲❚✆❱❥④▲◗❏♦❝❙❯✇❊❘✗❩✜❙❛❱▲♦❽❚✆◗❏❩✜❖✼❱✈♣✭❙❭❬➆❩✜❱❜◗r↕❷❩✜◗■♦❝♣❽❩❢❖✼◗❚✆❙❛♦✼❙❯❚✆❙❛✇■❘❨❩✜❙❛❱▲♦✓❪❝❵✜❱❥②✼❣❯◗■❚ ❩✜❱✱❬✜①❝s❼❖✓④❥◗❏♦✼◗■❵❢❘▲❣❯❙❛✇❏◗❊♣✱❱▲❵➃sr❱❥❚✕❪❁❱❥❬✜❙❯❩✜◗❬✜❖❝❘❨❪❁◗■❬ ❻
✝✰✯ ✢
✱✳✲ ✪ ✲

➎
✫
➎
✩✛✪
➋❝➓
✮ ✪
➐
✭
➍➏➎
✟ ✡ ✪✂✫

▼P❖✼◗✆sr❱❥❚✆❪❴❱t❬✙❙❯❩✜◗✆❬✙❖❴❘❨❪❁◗✕❙❭❬➃♣✈◗■❬❢sr❵❢❙❛②❴◗❊♣➧②❷❦✚❩✦❞➆❱✫✐✗❘❨❵❢❙❛❘▲②✼❣❛◗■❬■❧❝❩❢❖✼◗❚❽❘✗❩❢◗❏❵❢❙❛❘▲❣✌♣✈◗■♦❝❬✙❙❯❩✦❦
θ(x) : Ω → (0, 1)

❘▲♦❝♣✫❩✜❖✼◗❫❖✼❱▲❚✆❱▲④❥◗❏♦✼❙❛✇❏◗❊♣➲❅❱t❱❥➇▲◗✂✁ ❬❫❩✜◗■♦❝❬✙❱❥❵
A∗(x)

❧⑧❞✉❖✼❙❛s❼❖➟❵✜◗■❪✼❵❢◗■❬✜◗❏♦t❩❢❬❫❩✜❖✼◗✫①✼♦❝♣✼◗❏❵❢❣❯❦❷❙❛♦✼④❚✆❙❭sr❵❢❱❨❤➏❬✦❩❢❵✜①❝sr❩✜①✼❵❢◗➧➄⑨❩❢❖✼◗✡❬✜❖❝❘▲❪❴◗✡❱❨❳P❩✜❖✼◗✡❖✼❱▲❣❛◗■❬❼➅ ❻ ▼P❖✼◗✫♣✈❙❛❬✜❪✼❣❭❘▲s❏◗r❤❚✆◗❏♦t❩♥❱▲❳✌❩✜❖❝◗✯sr❱▲❚✆❪❁❱❥❬✜❙③❩❢◗❾❬✦❩❢❵✜①❝sr❩✜①✼❵❢◗➃❙❛❬✉❩✜❖✼◗✯❬✜❱▲❣❛①✈❩✜❙❛❱▲♦✫❱❨❳






div σ = 0
❙❛♦

Ω,
❞✉❙❯❩✜❖

σ = A∗e(u),
σn = g

❱❥♦
ΓN ,

❘▲♦❝♣
σn = 0

❱❥♦
Γ0

u = 0
❱❥♦

ΓD.

➄➦û❨➅
▼P❖✼◗➃❖✼❱❥❚✆❱▲④▲◗■♦✼❙❛✇❏◗■♣✡❪✼❵❢❱▲②✼❣❛◗❏❚➝❙❛❬✉♣✈◗❏⑦❝♦✼◗❊♣✫❘❥❬
min J(θ, A∗) = c(θ, A∗) + ℓ

∫

Ω

θdx,
➄✺ït➅

❞✉❖✼◗■❵✜◗✶❩❢❖✼◗⑧❚✆❙❯♦❝❙❯❚✆❙❛✇■❘✗❩❢❙❯❱❥♦➃❩❢❘▲➇▲◗■❬❈❪❝❣❛❘❥sr◗⑧❱✗✐▲◗■❵➥❘❨❣❛❣❥sr❱❥①✼❪✼❣❛◗■❬
(θ, A∗)❬✜①❝s❼❖✫❩✜❖❝❘❨❩

A∗
❙❛❬❅❘✆❖✼❱▲❚✆❱▲④❥◗❏♦✼❙❛✇❏◗❊♣✚➲♥❱❷❱▲➇❥◗ ✁ ❬P❣❛❘✿❞➨sr❱❥❵✜❵❢◗■❬✜❪❴❱❥♦❝♣❷❤❙❛♦✼④✕❩✜❱✭❘✆❚❽❘✗❩❢◗❏❵❢❙❛❘▲❣➺♣✈◗❏♦❴❬✙❙❯❩✦❦

θ
❻ ▼P❖✼◗✯sr❱❥❚✕❪❝❣❯❙❭❘❨♦❝s❏◗➃❱❨❳❍❩✜❖✼◗✯s❏❱▲❚✕❤❪❁❱❥❬✜❙③❩❢◗❾❬✦❩❢❵✜①❝sr❩✜①✼❵❢◗➃❙❛❬❅♣✈◗r⑦❝♦❝◗■♣✫②❷❦

c(θ, A∗) =

∫

ΓN

g · u ds =

∫

Ω

A∗−1σ · σ dx.

▼P❖✼◗✴❚✆❙❯♦✼❙❛❚❫①❝❚ ❙❛❬✡❵✜◗❊❘▲s❼❖✼◗❊♣➛②t❦✎❬✜❪❴◗❊sr❙❭❘❨❣➃sr❱❥❚✕❪❁❱❥❬✜❙❯❩✜◗■❬✡s❏❘▲❣❯❣❛◗■♣❬✜◗■ét①✼◗■♦❥❩❢❙❛❘▲❣➺❣❭❘❨❚✆❙❯♦❴❘✗❩✜◗❊❬❏❧❝❱▲②✈❩❼❘❨❙❛♦✼◗■♣✱❘❥❬♥❬✙①❴s❏sr◗❊❬✜❬✜❙❛✐▲◗➃❣❛❘✿❦❥◗❏❵❢❙❯♦❝④❥❬P❱❨❳✐❥❱▲❙❭♣✴❘▲♦❝♣✠❚✆❘❨❩✜◗■❵✜❙❭❘❨❣⑧❙❛♦
N

❱▲❵✜❩✜❖✼❱❥④▲❱▲♦❴❘❨❣⑧♣✈❙❛❵✜◗❊s↔❩✜❙❛❱▲♦❴❬❾❘❨♦❝♣✠❞✉❙❯❩✜❖❘❥♣✈◗■ét①❝❘❨❩✜◗❽❪✼❵❢❱▲❪❁❱▲❵✜❩✜❙❛❱▲♦❝❬ ❻ ▼P❖✼◗✡♣✈❙❯❵❢◗■sr❩✜❙❛❱▲♦❝❬✯❱❨❳✉❣❛❘▲❚✆❙❯♦❝❘❨❩✜❙❛❱▲♦◆❘▲❵✜◗④❥❙❯✐❥◗❏♦✚②❷❦✡❩❢❖✼◗✯◗■❙❯④❥◗❏♦❷✐▲◗❊s↔❩✜❱❥❵❢❬P❱▲❳⑧❩✜❖✼◗✕❬✦❩❢❵✜◗❊❬✜❬✉❩✜◗❏♦❴❬✙❱❥❵
σ
❻❁ö ❱▲❵➈◗r↕❷❤❘▲❚✕❪❝❣❯◗❥❧❥❙❛♦✡♣✈❙❛❚✆◗❏♦❝❬✜❙❛❱▲♦

N = 2
❧▲❩❢❖✼◗➣❱▲❪✈❩❢❙❯❚❽❘❨❣❁❣❭❘❨❚✆❙❯♦❴❘✗❩✜❙❛❱▲♦✬❪✼❵✜❱▲❤❪❁❱▲❵✜❩✜❙❛❱▲♦❝❬✉❘▲❵✜◗

m1 =
|σ2|

|σ1| + |σ2|
, m2 =

|σ1|

|σ1| + |σ2|
,

➄✸î❥➅
❞✉❖✼◗■❵✜◗

σ1
❘❨♦❝♣

σ2
❘▲❵✜◗➣❩❢❖✼◗❾◗❏❙❛④▲◗■♦t✐✗❘▲❣❯①✼◗❊❬⑤❱❨❳

σ
❻ ▼P❖✼◗❏♦✌❧❷❩✜❖✼◗❾❖✼❱▲❤❚✆❱▲④❥◗❏♦✼❙❛✇❏◗❊♣✡➲❅❱❷❱▲➇▲◗✂✁ ❬⑤❣❭❘✿❞➡❱▲❳✌❩✜❖❝◗❾❱▲❪✈❩❢❙❯❚❽❘❨❣õsr❱▲❚✆❪❁❱❥❬✜❙③❩❢◗➃❙❛❬

A∗−1 = A−1 +
1 − θ

θ
(m1f

c
A(e1) + m2f

c
A(e2))

−1
,

➄✦í❊➭❥➅
❞✉❖✼◗■❵✜◗

e1
❘❨♦❴♣

e2
❘❨❵❢◗✭❩❢❖✼◗✬①❝♦✼❙③❩❼❘❨❵❢❦➜◗❏❙❛④▲◗❏♦❷✐❥◗■s↔❩❢❱▲❵❼❬❾❱❨❳

σ
❘❨♦❝♣

f c
A(ei)

❘▲❵✜◗✶❳⑥❱❥①✼❵✙❩❢❖✈❤➦❱▲❵❼♣✈◗❏❵❈❩❢◗❏♦❝❬✜❱▲❵❼❬➺♣✈◗❏⑦❝♦✼◗■♣❾❳⑥❱▲❵õ❘▲♦❷❦➈❬✜❦t❚✆❚✆◗r❩❢❵✜❙❭s❚❽❘✗❩❢❵✜❙❯↕
ξ
②❷❦

f c
A(ei)ξ · ξ = Aξ · ξ −µ−1|Aξ|2 +

µ + λ

µ(2µ + λ)
((Aξ)ei · ei)

2.

ö ❙❛♦❝❘❨❣❛❣❯❦❥❧❷❩✜❖✼◗❾❱❥❪✈❩✜❙❛❚❽❘❨❣✌♣✼◗❏♦❝❬✜❙③❩✦❦
θ
❙❭❬

θopt = min

(

1,

√

λ + 2µ

4µ(λ + µ)ℓ
(|σ1| + |σ2|)

)

.
➄✦í❥í❊➅
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➙ ❦✯①❝❬✜❙❛♦✼④➣❩✜❖✼◗P❪✼❵❢❙❯♦❴sr❙❛❪✼❣❯◗✉❱▲❳❴❚✆❙❛♦✼❙❯❚❽❘▲❣✼sr❱▲❚✆❪✼❣❛◗❏❚✆◗■♦❥❩❼❘❨❵❢❦❾◗❏♦✼◗■❵✜④❥❦❳⑥❱❥❵P❩✜❖✼◗✯s❏❱▲❚✆❪✼❣❛❙❛❘▲♦❝sr◗
c(θ, A∗) = min

div τ=0 ✂ ✄ Ω
τn=g ☎✆✄ ΓN

τn=0 ☎✆✄ Γ0

∫

Ω

A∗−1τ · τ dx,

❩❢❖✼◗➆❚✆❙❛♦✼❙❛❚✕❙❛✇■❘❨❩✜❙❛❱▲♦✯❱▲❳✈❩✜❖✼◗⑤❖✼❱❥❚✕❱❥④▲◗■♦✼❙❯✇■◗■♣➣❳⑥❱❥❵✜❚❜①✼❣❛❘❨❩✜❙❛❱▲♦✭➄✸ï❥➅➺s■❘❨♦②❁◗➈❬✜◗❏◗■♦✬❘▲❬➆❘❨♦✬❘▲❣③❩❢◗❏❵❢♦❝❘✗❩❢◗♥❚✆❙❯♦✼❙❛❚✆❙❯✇❊❘✗❩❢❙❯❱❥♦✭❞✉❙③❩❢❖✬❵❢◗■❬✜❪❴◗❊s↔❩➆❩✜❱❜❘❥♣❷❤❚✆❙❭❬✜❬✜❙❯②❝❣❯◗✯❬✙❩✜❵❢◗■❬❢❬✙◗❊❬
τ
❘▲♦❝♣✚♣✈◗■❬✜❙❯④❥♦✡❪❴❘❨❵❼❘❨❚✆◗r❩❢◗❏❵❼❬

(θ, A∗)
❻ ▼P❖❷①❝❬■❧❞⑤◗➃①❝❬✙◗➃❩❢❖✼◗➣❳⑥❱▲❣❛❣❯❱✗❞✉❙❛♦✼④ �✙❱▲❪✈❩❢❙❯❚❽❘❨❣❛❙❯❩✦❦✬sr❵❢❙③❩❢◗❏❵❢❙❛❘ ✂➣❘❨❣❛④▲❱❥❵✜❙❯❩✜❖❝❚

í ❻ → ♦✼❙❯❩✜❙❭❘❨❣❛❙❯✇❊❘✗❩❢❙❯❱❥♦✫❱▲❳✌❩❢❖✼◗✯❬✙❖❴❘❨❪❁◗
(θ0, A

∗
0)
❻➯ ❻ → ❩✜◗■❵❢❘❨❩✜❙❛❱▲♦✫①✼♦t❩✜❙❛❣✌sr❱❥♦❷✐▲◗❏❵❢④▲◗■♦❝sr◗❅❳⑥❱▲❵

n ≥ 0
❧➄✸❘❥➅ ☞ ❱▲❚✆❪✼①✼❩✜◗➃❩✜❖❝◗✯❬✦❩❢❵✜◗❊❬✜❬➆❩✜◗■♦❝❬✜❱▲❵

σn

②❷❦✬❬✜❱▲❣❛✐t❙❛♦✼④➧➄➦û❨➅ ❻➄✺②❴➅ ☞ ❱▲❚✆❪✼①✼❩✜◗✶❩✜❖❝◗❃♦✼◗❏❞➀♣✈◗❊❬✙❙❛④▲♦➣❪❝❘▲❵❢❘▲❚✕◗❏❩✜◗■❵❢❬
(θn+1, A

∗
n+1)

❧①❝❬✜❙❯♦❝④❜❩❢❖✼◗❾❱▲❪✼❩✜❙❛❚✆❘▲❣❯❙❯❩✦❦✬s❏❱▲♦❝♣✈❙❯❩✜❙❛❱▲♦❴❬❾➄✦í■➭❨❤❢í❥í❊➅ ❻
☞ ❱❥❚✕❪❝①✈❩✜❙❛♦✼④

σn

❘❨❚✆❱▲①❝♦❥❩❼❬✶❩✜❱✕❬✙❱❥❣❯✐❥◗P❩✜❖✼◗➈❣❯❙❛♦✼◗❊❘❨❵✞◗■❣❛❘❥❬✦❩❢❙❛s❏❙③❩✦❦✆❬✜❦❷❬✙❤❩❢◗❏❚ ➄♠û▲➅♥❙❛♦✓❘✬♣✼❙❛❬✜❪✼❣❭❘▲sr◗■❚✆◗❏♦t❩♥❳⑥❱▲❵❢❚❫①❝❣❛❘❨❩✜❙❛❱▲♦➧❘❨♦❴♣✱◗❏✐✗❘❨❣❛①❝❘❨❩✜◗✯❩❢❖✼◗❵❢◗■❬✜①✼❣❯❩✜❙❛♦✼④✕❬✙❩✜❵❢◗■❬❢❬ ❻ ▼P❖✼◗❾❬✦❩❢❵✜◗❊❬✜❬➆❩✜◗■♦❝❬✜❱▲❵P❙❛❬❍➩✦①❴❬✦❩♥❵❢◗■ét①✼❙❛❵✜◗❊♣❽❩❢❱✕①❝❪✈❤♣✼❘❨❩✜◗P❩❢❖✼◗❅♣✈◗❊❬✙❙❛④▲♦✕❪❝❘❨❵❼❘❨❚✆◗❏❩✜◗❏❵❼❬ ❻ ➲♥❱✗❞⑤◗❏✐▲◗■❵■❧✗❬✜❙❯♦❴sr◗P❩✜❖❝◗❅❘❨②❁❱✗✐▲◗✉❘❨❣❯❤④❥❱▲❵❢❙③❩❢❖✼❚✑❙❭❬⑧❘❨♦✆❘❨❣❯❩✜◗❏❵❢♦❝❘❨❩✜◗P❚✆❙❯♦✼❙❛❚✆❙❯✇❊❘✗❩❢❙❯❱❥♦➺❧✿❩✜❖✼◗✉❱❥②✈➩✦◗■sr❩✜❙❛✐▲◗⑤❳⑥①✼♦❝sr❤❩❢❙❯❱❥♦✫❙❭❬✉❘❨❣❛❞P❘✿❦❷❬P♣✈◗❊sr❵❢◗■❘❥❬✙❙❛♦✼④ ❻▼P❖✼◗✚❵❢◗■❬✜①✼❣③❩❢❙❯♦❝④✓❱▲❪✼❩✜❙❛❚✆❘▲❣✉♣✈◗■❬✜❙❯④❥♦➁②❁◗❏❙❛♦✼④➜sr❱▲❚✆❪❁❱❥❬✜❙③❩❢◗▲❧❍❙③❩❽❙❭❬❩❢❖✼◗❏♦ �✙❪✼❵✜❱▲➩✦◗■sr❩✜◗■♣ ✂➈❱▲♦✫❩✜❖❝◗✯❬✙◗❏❩♥❱❨❳⑧sr❣❭❘▲❬❢❬✙❙❭s❏❘▲❣❈❬✜❖❝❘▲❪❴◗❊❬P②t❦✫❘❨❪✼❪❝❣❯❦t❤❙❛♦✼④✱❘❨④t❘❨❙❛♦✱❩✜❖✼◗❽❪❝❵✜◗■✐t❙❛❱▲①❴❬➈❬❢s❼❖✼◗❏❚✆◗✆❞✉❙❯❩✜❖✴❩✜❖✼◗✆❳⑥❱❥❣❯❣❛❱✗❞✉❙❯♦❝④✡❬✜❣❯❙❛④▲❖t❩❚✆❱✈♣✈❙❯⑦❴s❏❘❨❩✜❙❛❱▲♦➺❿✿❩❢❖✼◗♥♣✈◗❏♦❴❬✙❙❯❩✦❦✯❙❭❬✶①✼❪❁♣❝❘✗❩✜◗❊♣✆❬✙◗❏❩✙❩✜❙❛♦✼④
θn+1 = θpen

❧❞✉❖✼◗■❵✜◗
θpen =

1 − cos(πθopt)

2
,

❙❛♦❝❬✙❩✜◗■❘❥♣❫❱▲❳
θn+1 = θopt
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σ
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θ
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A∗
❙❭❬✞❵❢◗❏❪✼❣❭❘▲s❏◗■♣✕②❷❦

A∗ + εA
❧❞✉❙❯❩✜❖

ε = 10−3 ❧❍❙❛♦➁❱❥❵❢♣✼◗❏❵❜❩✜❱✠❙❯♦❷✐▲◗■❵✙❩❜❩✜❖✼◗✚❬✙❩✜❙❯ù❁♦✼◗❊❬✜❬✕❚❽❘✗❩❢❵✜❙❯↕ ❻ì ◗➈①❴❬✙◗➈❩✜❖✼◗➃❬❢❘❨❚✆◗➈②❴❘▲❬✜❙❛s❅❱▲❪❁◗❏❵❼❘✗❩✜❱❥❵❢❬✞❱❨❳ ⑩t❶✼❸❷❸❥⑩✼❸❊❹❁❺❷❺ ❘❥❬✞❙❛♦✬❩❢❖✼◗
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➑
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➍
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➑
✡
➌
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➎
✫
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➌
✲
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Ï➆Ð❐Ð③Ñ■Ò➔Ó✦Ô♥❮➈❰❐Õ✣✢❊ß❊ã ✝✿Ô➆è❍❰③Õ✣✤❴ß✿Ñ ✙▲Ô❢Ó❃Ï♥❰ ✥♠Ü✡❰❐Õ✦☞❨Ù➏Ó✦ã❥Þ❢Ù✦ã❥Ó✙Ñ❏Ðtß ✒❥Ù✦Ò✘✗❾Ò❐Ú↔Ñ❏Ù✦Ò❐ß❊Øãtç➏Ò❐Ø ✛✯ç➏Ô❼Ø❥ç➏Ò❐Ù✦Ò ✝❨Ò➔Ù♠à✭Ñ❏Ø❷Ñ❏Ð❐à▲ç➏Ò❐ç✉Ñ❏Ø ✙❽Ñ✯Ð③Ô ✝✿Ô❼Ð✧✥✺ç➏Ô❢Ù✖✗❾Ô✜Ù✦átß ✙❝Õ★✢❥❰❴Û❍ß ✗ ✒❝❰×✌á✗à▲ç❼❰✑✍✌ß❊Ð➥å❼ä �✪✩ å❊Õ ✒☎✒❴❰ � � � ✥ � ä � ✕ � � � � ✗✜❰
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